
CHEMISTRY

BOOKS - VGS BRILLIANT CHEMISTRY (TELUGU

ENGLISH)

CARBON AND ITS COMPOUND

Exercise

1. What are the general molecular formulae of alkanes, alkenes and

alkynes?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kOa6raf0zDzN


2. Name the product other than water formed on burning of

ethanol in air.

Watch Video Solution

3. Name the simplest ketone and write it's molecular formula.

Watch Video Solution

4. Name the compound formed by heating ethanol at 443K with

excess of conc. .

Watch Video Solution

H2SO4

5. Name the product obtained when ethanol is oxidized by either

chromic anhydride Or alkaline potassium permanganate.

https://dl.doubtnut.com/l/_7FVkzs9UhG0N
https://dl.doubtnut.com/l/_MAFmia7uNXMK
https://dl.doubtnut.com/l/_xBB6tyA8gfkQ
https://dl.doubtnut.com/l/_pHGyRM4M74YG


Watch Video Solution

6. Write the homologus series of carbon compounds after

 and write the IUPAC name.

Watch Video Solution

CH3OHCH2CH3

7. Why does carbon form compounds mainly by covalent bonding?

Watch Video Solution

8. Explain the sodium ethoxide is obtained from ethanol. Give

chemical equations.

Watch Video Solution

https://dl.doubtnut.com/l/_pHGyRM4M74YG
https://dl.doubtnut.com/l/_GR6K6ByC4fz5
https://dl.doubtnut.com/l/_mkfgIbPLEAtU
https://dl.doubtnut.com/l/_7cVExf2it5vr
https://dl.doubtnut.com/l/_L6qnq0bVaMoW


9. Explain the cleansing action of soaps.

Watch Video Solution

10. Distinguish between esterification and saponification reactions

of organic compounds.

Watch Video Solution

11. Distinguish between esterification and saponification reactions

of organic compounds.

Watch Video Solution

12. What happens when a small piece of sodium is dropped into

ethanol?

https://dl.doubtnut.com/l/_L6qnq0bVaMoW
https://dl.doubtnut.com/l/_cPnqA7AA80O4
https://dl.doubtnut.com/l/_rN21AkdcY7E6
https://dl.doubtnut.com/l/_T8DEgxVzcRwZ


Watch Video Solution

13. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

14. Explain with the help of a chemical equation, how an addition

reaction is used in vegetable ghee industry.

Watch Video Solution

15. Explain with the help of a chemical equation, how an addition

reaction is used in vegetable ghee industry.

Watch Video Solution

https://dl.doubtnut.com/l/_T8DEgxVzcRwZ
https://dl.doubtnut.com/l/_021ZLgXo8qNk
https://dl.doubtnut.com/l/_63gv1wVO7ODL
https://dl.doubtnut.com/l/_gk8TY7FT22LQ


16. Write the various possible structural formulae of a compound

having molecular formula ?

Watch Video Solution

C3H6O

17. Allotropy is a property shown by which class of

substances:elements, compounds or mixtures? Explain allotropy

with suitable examples.

Watch Video Solution

18. Two carbon compounds A and B have molecular formulae 

and  respectively. Which one of the two is most likely to

undergo addition reactions? Justify your answer.

Watch Video Solution

C3H8

C3H6

https://dl.doubtnut.com/l/_POQUUIal0sC3
https://dl.doubtnut.com/l/_yrbCHWTbKbG0
https://dl.doubtnut.com/l/_4pXUkFDIcAP8


19. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

is added to the mixture and warmed in a water bath for

5min.answer the question:What are the special characteristics of

the compound formed?

Watch Video Solution

20. 1 ml glacial acetic acid and 1 ml of ethanol are mixed together

in a test tube. Few drops of concentrated sulphuric acid is added

to the mixture and warmed in a water bath for 5 min. Represent

the above change by a chemical equation.

Watch Video Solution

https://dl.doubtnut.com/l/_ITIFsyp55Zcn
https://dl.doubtnut.com/l/_c4SMe92vC7RR


21. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

is added to the mixture and warmed in a water bath for

5min.answer the question:What name is given to such a reaction?

Watch Video Solution

22. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

is added to the mixture and warmed in a water bath for

5min.answer the question:What are the special characteristics of

the compound formed?

Watch Video Solution

https://dl.doubtnut.com/l/_KJ2UJmkDBzrf
https://dl.doubtnut.com/l/_w77FWpBfqyzg


23. Which of the following solution of acetic acid in water can be

used as preservative?

A. 5-10%

B. 10-15%

C. 15-20%

D. 1

Answer:

Watch Video Solution

24. The suffix used for naming an aldehyde is___

A. -ol

B. -al

https://dl.doubtnut.com/l/_g108XyeTWkVA
https://dl.doubtnut.com/l/_VlvBqYaaNwap


C. -one

D. -ene

Answer:

Watch Video Solution

25. Acetic acid when dissolved in water it dissociates into ions

reversibly because it is a______

A. weak acid

B. strong acid

C. weak base

D. strong base

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_VlvBqYaaNwap
https://dl.doubtnut.com/l/_2tpkmrxihAwF


26. Which one of the following hydrocarbons can show isomerism?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H4

C2H6

C3H8

C4H10

27. Combustion of hydrocarbon is generally accompanied by the

evolution of_______

A. Heat

https://dl.doubtnut.com/l/_2tpkmrxihAwF
https://dl.doubtnut.com/l/_ximXJo2Q4dQN
https://dl.doubtnut.com/l/_ALMfuZkcLmlz


B. Light

C. Both heat and light

D. Electric current

Answer:

Watch Video Solution

28. 2ml of ethanoic acid was taken in each of the three test tubes

A, B and C and 2ml, 4ml and 8ml of water was added to them

respectively. A clear solution is obtained in_____

A. Test tube A only

B. Test tubes A & B only

C. Test tubes B and C only

D. All the test tubes

https://dl.doubtnut.com/l/_ALMfuZkcLmlz
https://dl.doubtnut.com/l/_rGGna5xvUqp7


Answer:

Watch Video Solution

29. If 2ml of acetic acid was added slowly in drops to 5ml of water

then we will notice

A. The acid forms a separate layer on the top of water

B. Water forms a separate layer on the top of the acid

C. Formation of a clear and homogenous solution

D. Formation of a pink and clear solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_rGGna5xvUqp7
https://dl.doubtnut.com/l/_rKPMuWXWDUOy


30. A few drops of ethanoic acid were added to solid sodium

carbonate. The possible results of the reactions are

A. A hissing sound was evolved

B. Brown fumes evolved

C. Brisk effervescence occurred

D. A pungent smelling gas evolved

Answer:

Watch Video Solution

31. When acetic acid reacts with ethyl alcohol, we add conc. ,

which acts as_________ and the process is called______

A. Oxidizing agent, saponification

H2SO4

https://dl.doubtnut.com/l/_cHUgaslguSkT
https://dl.doubtnut.com/l/_dXZVRvx2vn5H


B. Dehydrating agent, esterification

C. Reducing agent, esterification

D. Acid & esterification

Answer:

Watch Video Solution

32. Suggest a test to find the hardness of water and explain the

procedure.

Watch Video Solution

33. Suggest a chemical test to distinguish between ethanol and

ethanoic acid and explain procedure.

Watch Video Solution

https://dl.doubtnut.com/l/_dXZVRvx2vn5H
https://dl.doubtnut.com/l/_jsghrtBgLpv0
https://dl.doubtnut.com/l/_MA5Rl5yESZiq


34. Suggest a chemical test to distinguish between ethanol and

ethanoic acid and explain procedure.

Watch Video Solution

35. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

compound 'Y', that has molecular formula .Identify "X" and

"Y".

Watch Video Solution

C2H6O

KMnO4

C2H4O2

36. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

compound 'Y', that has molecular formula : Write your

C2H6O

KMnO4

C2H4O2

https://dl.doubtnut.com/l/_MA5Rl5yESZiq
https://dl.doubtnut.com/l/_0YSV3EJt0W46
https://dl.doubtnut.com/l/_Cg4QNCcV2LHb
https://dl.doubtnut.com/l/_JyjXJeOM1ZiN


observation regarding the product when compound 'X' is made to

react with compound "Y" Which is used as a preservative for

pickles.

Watch Video Solution

37. Prepare models of methane, ethane, ethene and ethyne

molecules using clay balls and matchsticks.

Watch Video Solution

38. Collect information on the process of artificial ripening of

fruits in fruit markets and discuss whether it is useful or harmful.

Watch Video Solution

https://dl.doubtnut.com/l/_JyjXJeOM1ZiN
https://dl.doubtnut.com/l/_oELc5LcKdKdA
https://dl.doubtnut.com/l/_R3i89BQdzsyt


39. How do you condemn the use of alcohol as a social practice?

Watch Video Solution

40. Write an activity to show esterification.

Watch Video Solution

41. Write an activity to show soap solution separates oil from

water.

Watch Video Solution

42. What are bond angles of  in ,  and 

molecules?

W t h Vid S l ti

HCH CH4 C2H4 C2H2

https://dl.doubtnut.com/l/_JGDSrzTZBqtl
https://dl.doubtnut.com/l/_oVrqqKAvJ4hI
https://dl.doubtnut.com/l/_VBIbu18azzDp
https://dl.doubtnut.com/l/_ObQAoZ44Rve5


Watch Video Solution

43. Why we are advised not to use animal fats for cooking?

Watch Video Solution

44. Which oil is recommended for cooking? Why?

Watch Video Solution

45. How do carbon atoms form bonds in so many ways

Watch Video Solution

46. Where this energy to excited electron comes from?

Watch Video Solution

https://dl.doubtnut.com/l/_ObQAoZ44Rve5
https://dl.doubtnut.com/l/_gjtV6COhwlMJ
https://dl.doubtnut.com/l/_aLv0a5rAuJAJ
https://dl.doubtnut.com/l/_tINrzKG6Xlly
https://dl.doubtnut.com/l/_x2YizQSXyreN


47. In methane( ) molecule all four carbon-hydrogen bonds are

identical and bond angle  is 109.28.how can we explain this?

Watch Video Solution

CH4

HĈH

48. How to explain the four orbitals of carbon containing unpaired

electrons as energetically equal?

Watch Video Solution

49. How do you explain the ability of C- atom to form two single

covalent bonds and one double bond?

Watch Video Solution

https://dl.doubtnut.com/l/_x2YizQSXyreN
https://dl.doubtnut.com/l/_AvrNb0g5GuEr
https://dl.doubtnut.com/l/_4gfnQKXCUIxX
https://dl.doubtnut.com/l/_THB2Yqe2bnyx
https://dl.doubtnut.com/l/_RBlyEWvyCTs5


50. How do you explain the ability of carbon atom to form one

single bond and one triple bond?

Watch Video Solution

51. How do you understand the marking(writings) of a pencil on a

paper?

Watch Video Solution

52. What are hydrocarbons?

Watch Video Solution

53. Do all the organic compounds have equal number of 'C' and 'H'

atoms?

https://dl.doubtnut.com/l/_RBlyEWvyCTs5
https://dl.doubtnut.com/l/_NAEyxiXq1xKm
https://dl.doubtnut.com/l/_dAA0JoCjx0ms
https://dl.doubtnut.com/l/_hP2oZdT8weu4


Watch Video Solution

54. Can carbon form bonds with the atoms of other elements?

Watch Video Solution

55. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

56. Do you know what is a catalyst ?

Watch Video Solution

57. What is a true solution?

https://dl.doubtnut.com/l/_hP2oZdT8weu4
https://dl.doubtnut.com/l/_qyS9sGdxGJsV
https://dl.doubtnut.com/l/_bNHNShYhCVJF
https://dl.doubtnut.com/l/_D0wywmnL9sQN
https://dl.doubtnut.com/l/_tOYvR6X7MoLh


Watch Video Solution

58. Can carbon get helium configuration by losing four electrons

from the outer shell?

Watch Video Solution

59. Explain the four unpaired electrons in carbon atom through

excited state.

Watch Video Solution

60. Allotting completely one special branch in chemistry to

compounds of only one element. Is it justified when there are so

many elements and their compounds but not with any special

branches?

https://dl.doubtnut.com/l/_tOYvR6X7MoLh
https://dl.doubtnut.com/l/_pATG6lAUD2I6
https://dl.doubtnut.com/l/_l4nkEcHafMpR
https://dl.doubtnut.com/l/_kBSURNcr1sKj


Watch Video Solution

61. What are esters?

Watch Video Solution

62. How these energetically unequal valence electrons form four

equivalent covalent bonds in methane molecule?

Watch Video Solution

63. Can we write the structure of a compound if the name of the

compound is given ?

Watch Video Solution

https://dl.doubtnut.com/l/_kBSURNcr1sKj
https://dl.doubtnut.com/l/_lqxrL7SUF7Ri
https://dl.doubtnut.com/l/_XuG5yIDyJ9ET
https://dl.doubtnut.com/l/_r8VL7PqihuB3
https://dl.doubtnut.com/l/_ZqgQTkOBbdv3


64. Do you know how the police detect whether suspected drivers

have consumed alcohol or not?

Watch Video Solution

65. What is the action of soap particles on the greasy cloth?

Watch Video Solution

66. How do you appreciate the role of oxygen in combustion

process?

Watch Video Solution

67. Complete the following reactions: 

Watch Video Solution

CH2 = CH2 + H2Ni
−→

https://dl.doubtnut.com/l/_ZqgQTkOBbdv3
https://dl.doubtnut.com/l/_etGlMNxdiQbn
https://dl.doubtnut.com/l/_XzHofd4nuoir
https://dl.doubtnut.com/l/_HoEvfL1K216L


68. Why dough rises swells, when it is treated with yeast ?

Watch Video Solution

69. Write two uses of nano tubes.

Watch Video Solution

70. Write two uses of ethanol in day to day life.

Watch Video Solution

71. Write the atomic structure of the following carbon compounds.

3,7 -dibromo -4, 6 dichloro -oct5 - ene - 1,2 - diol

Watch Video Solution

https://dl.doubtnut.com/l/_HoEvfL1K216L
https://dl.doubtnut.com/l/_Zteay1vwErfH
https://dl.doubtnut.com/l/_boBY0hSakOQp
https://dl.doubtnut.com/l/_SA5xYaw0IowM
https://dl.doubtnut.com/l/_Yrf8K0q4wsxA


Watch Video Solution

72. Why do the various micelles present in water do not come

together to form a precipitate ? Guess the reason.

Watch Video Solution

73. Mention any two uses of graphite in day to day life.

Watch Video Solution

74. Why are vegetable oils healthy us compared to vegetable ghee

?

Watch Video Solution

https://dl.doubtnut.com/l/_Yrf8K0q4wsxA
https://dl.doubtnut.com/l/_amrVjYAay11W
https://dl.doubtnut.com/l/_vCHo2qEGJRVK
https://dl.doubtnut.com/l/_SpFltTEHkb3D


75. Draw the structure of the methane molecule. Write its bond

angle.

Watch Video Solution

76. What are alkenes ?

Watch Video Solution

77. Write the general formula of alkenes. Give an example for

alkenes.

Watch Video Solution

78. What is allotropy? Name the crystalline allotropes of Carbon.

What are their uses? 

https://dl.doubtnut.com/l/_NP3ZqQ9RhFlN
https://dl.doubtnut.com/l/_C41PNfZA3IgL
https://dl.doubtnut.com/l/_jI5ig5fvUI5Z
https://dl.doubtnut.com/l/_Vg6IiqNeaqYk


Watch Video Solution

79. What are the characteristics of homologous series ?

Watch Video Solution

80. Why alkanes are known as paraffins ?

Watch Video Solution

81. List out the materials required to conduct the experiment to

understand the esterification reaction. Explain the procedure of

the experiment. How can you identify that an ester is formed in

this reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_Vg6IiqNeaqYk
https://dl.doubtnut.com/l/_zbhnlXBXj0pm
https://dl.doubtnut.com/l/_KQrJiFUKgSJK
https://dl.doubtnut.com/l/_Moss6mXl2oM0


82. Explain the isomerism and catenation properties of carbon.

Watch Video Solution

83. What is the position of carbon in periodic table ?

Watch Video Solution

84. What is hybridisation?

Watch Video Solution

85. Draw the diagram showing  hybridization in ethene.

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_35bm1ZrmzCZu
https://dl.doubtnut.com/l/_locz09SUiOI0
https://dl.doubtnut.com/l/_ffy07GwcGoNP
https://dl.doubtnut.com/l/_6NnMdYGIKcCU
https://dl.doubtnut.com/l/_I6kFht2lJ5jx


86. Draw the structure of the methane molecule. Write its bond

angle.

Watch Video Solution

87. Allotropy is a property shown by which class of

substances:elements, compounds or mixtures? Explain allotropy

with suitable examples.

Watch Video Solution

88. Amorphous allotrope of carbon is

Watch Video Solution

https://dl.doubtnut.com/l/_I6kFht2lJ5jx
https://dl.doubtnut.com/l/_CBiXSOz7tt1E
https://dl.doubtnut.com/l/_M7rQJhluvbqI


89. Name the crystalline allotropes of carbon and mention any

hybridization involved in them 

Watch Video Solution

90. What property of carbon allows it to form a large number of

carbon compounds?

Watch Video Solution

91. Why carbon is versatile element in nature?

Watch Video Solution

92. What are hydrocarbons?

W t h Vid S l ti

https://dl.doubtnut.com/l/_gSnJK5Vyk585
https://dl.doubtnut.com/l/_jwrPsOZ75jWv
https://dl.doubtnut.com/l/_LVPUnXOPa73v
https://dl.doubtnut.com/l/_taJWT0ZCEYpM


Watch Video Solution

93. Give one example for straight chain compound.

Watch Video Solution

94. Give an example for branched chain compound.

Watch Video Solution

95. What are alkanes

Watch Video Solution

96. Write the general formula of alkenes. Give an example for

alkenes.

https://dl.doubtnut.com/l/_taJWT0ZCEYpM
https://dl.doubtnut.com/l/_81bSHjs2hdyO
https://dl.doubtnut.com/l/_Rib2aY8WPT9n
https://dl.doubtnut.com/l/_J2NiLMFiyizk
https://dl.doubtnut.com/l/_EdAg8rRJZaUi


Watch Video Solution

97. What are alkynes?

Watch Video Solution

98. The formula of a hydrocarbon is  Name the family to

which it belongs and also predicts its nature.

Watch Video Solution

C12H24

99. What is a functional group? Give three examples of functional

groups.

Watch Video Solution

https://dl.doubtnut.com/l/_EdAg8rRJZaUi
https://dl.doubtnut.com/l/_pt68T8ejYHRK
https://dl.doubtnut.com/l/_pBhHnvgW32Hv
https://dl.doubtnut.com/l/_D3TliGHd3XpJ
https://dl.doubtnut.com/l/_ylWH8Wm5HEUg


100. What do you mean by a functional group?

Watch Video Solution

101. Example showing ionisation isomerism

Watch Video Solution

102. What is the difference between two successive homologs?

Watch Video Solution

103. Write the structure of 3-bromo-2-chloro-5 oxo hexanoic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_ylWH8Wm5HEUg
https://dl.doubtnut.com/l/_SGWsR7vl6PYK
https://dl.doubtnut.com/l/_DLhbalwyZ7a9
https://dl.doubtnut.com/l/_y16PsNQVgY2a


104. What is saponification?

Watch Video Solution

105. What is a micelle? Give an example of micelle formation.

Watch Video Solution

106. Do you know what 'soap' is?

Watch Video Solution

107. Graphite is a good conductor - explain.

Watch Video Solution

https://dl.doubtnut.com/l/_H41hxUPtkWDt
https://dl.doubtnut.com/l/_HSkHJoS3F480
https://dl.doubtnut.com/l/_VaCULWdqQ7Ct
https://dl.doubtnut.com/l/_0Ze07L2Zdi8a
https://dl.doubtnut.com/l/_BuzzcSiz4w6p


108. What are the uses of fullerenes?

Watch Video Solution

109. What are oxidising agents?

Watch Video Solution

110. Why alkanes are known as paraffins ?

Watch Video Solution

111. What is the use of ethanol in motors?

Watch Video Solution

https://dl.doubtnut.com/l/_BuzzcSiz4w6p
https://dl.doubtnut.com/l/_3vnVoaGIgFNL
https://dl.doubtnut.com/l/_xpSaAIaG9BS0
https://dl.doubtnut.com/l/_vAu5M6RewcCu


112. What is a colloidal solution ? How is it different from a true

solution with respect to dispersed particle size and homogeneity ?

Watch Video Solution

113. Other than carbon which elements show catenation?

Watch Video Solution

114. Open chain hydrocarbons are also called

Watch Video Solution

115. Expand IUPAC.

Watch Video Solution

https://dl.doubtnut.com/l/_1c0iks6F2KuV
https://dl.doubtnut.com/l/_TKMxhUZvAgbX
https://dl.doubtnut.com/l/_u24mCzY3ndek
https://dl.doubtnut.com/l/_giDdc8QxSEA7


116. How do you appreciate the role of diamond in space probes ?

Watch Video Solution

117. How do you appreciate the role of diamond in surgery ?

Watch Video Solution

118. What is the reason behind blue and yellow coloured flames in

combustion process?

Watch Video Solution

119. How do you appreciate the role of ethanol as a fuel?

Watch Video Solution

https://dl.doubtnut.com/l/_giDdc8QxSEA7
https://dl.doubtnut.com/l/_btSkqjn0lCtb
https://dl.doubtnut.com/l/_D2DlwjpJk9XP
https://dl.doubtnut.com/l/_vqO9GL65y3oW
https://dl.doubtnut.com/l/_N7uzDf1AQl5c


120. How do you appreciate the role of acetic acid as a

preservative?

Watch Video Solution

121. How do you detect the leakage of gas?

Watch Video Solution

122. How LPG gas is useful for environment?

Watch Video Solution

123. How ethanol useful in pharmaceutical industry ?

h id l i

https://dl.doubtnut.com/l/_N7uzDf1AQl5c
https://dl.doubtnut.com/l/_uwymr9hdEwKe
https://dl.doubtnut.com/l/_qlezLl0tokpN
https://dl.doubtnut.com/l/_YMGt16OVlhof
https://dl.doubtnut.com/l/_wfPUNnSEgdrp


Watch Video Solution

124. How synthetic detergents are harmful for environment?

Watch Video Solution

125. How do you prepare Ethanol from ethene?

Watch Video Solution

126. Write the reactions of ethanol with sodium and conc.

Watch Video Solution

H2SO4 −

https://dl.doubtnut.com/l/_wfPUNnSEgdrp
https://dl.doubtnut.com/l/_5jbGSodmpbwH
https://dl.doubtnut.com/l/_GNEdL2mGGcjC
https://dl.doubtnut.com/l/_rQV1acPYHZvr


127. Write the reactions of ethanoic acid with metals, metal

hydroxide, metal carbonates and metal hydrogen carbonates.

Watch Video Solution

128. The purest form of carbon is

Watch Video Solution

129. Draw the structure of: 2-methayl pentan-3-Ol

Watch Video Solution

130. Draw the structure of: 2-Bromo-3-ethayl penta-1,4-diene

Watch Video Solution

https://dl.doubtnut.com/l/_waAwz5SP57tm
https://dl.doubtnut.com/l/_hIKiO3siXhMl
https://dl.doubtnut.com/l/_vHYB7YnHj4Mb
https://dl.doubtnut.com/l/_v4qEYdJVYPvM


131. Draw the structure of:3-amino-2-bromo hexan-1-Ol

Watch Video Solution

132. Draw the structure of: 3,4-dichloro but-1-ene

Watch Video Solution

133. Draw various structure of 

Watch Video Solution

C5H12

134. Draw various structure of : .

Watch Video Solution

C6H14

https://dl.doubtnut.com/l/_v4qEYdJVYPvM
https://dl.doubtnut.com/l/_vc0kOUHskwBW
https://dl.doubtnut.com/l/_M0SLWV4FhGnd
https://dl.doubtnut.com/l/_68udI8TmHyg6
https://dl.doubtnut.com/l/_Q07Vv6yJ4U1m


135. What are nanotubes?

Watch Video Solution

136. What is an homologous series? Explain with an example.

Watch Video Solution

137. Write the molecular formula of the fourth member of the

homologous series of alcohols.

Watch Video Solution

138. Do you know what is a catalyst ?

Watch Video Solution

https://dl.doubtnut.com/l/_duGp6AbbOB8f
https://dl.doubtnut.com/l/_rHdoIALSLSft
https://dl.doubtnut.com/l/_xSy8CmvlmBHW
https://dl.doubtnut.com/l/_MkxiK1wwe6CX


139. Why oils are in liquids at room temperature?

Watch Video Solution

140. Why fats are solids at room temperature ?

Watch Video Solution

141. Do you know how the police detect whether suspected drivers

have consumed alcohol or not?

Watch Video Solution

142. Name the gas evolved when acetic acid is react with sodium

hydrogen carbonate.

https://dl.doubtnut.com/l/_MkxiK1wwe6CX
https://dl.doubtnut.com/l/_cyMGhx4lvclS
https://dl.doubtnut.com/l/_jWQyypIuVFrT
https://dl.doubtnut.com/l/_krEfP6DkXv53
https://dl.doubtnut.com/l/_xPD2dXZ5ftUo


Watch Video Solution

143. Name the organic acid present in vinegar-write it's chemical

formula.

Watch Video Solution

144. What change will you observe if you test soap with litmus

paper (red and blue)?

Watch Video Solution

145. Out of butter and ground nut oil which is unsaturated in

nature?

Watch Video Solution

https://dl.doubtnut.com/l/_xPD2dXZ5ftUo
https://dl.doubtnut.com/l/_e7Siu2dFaAbt
https://dl.doubtnut.com/l/_f4Cg5vie4gc5
https://dl.doubtnut.com/l/_Aq1pLzTw3VN7


146. What are hydrophobic and hydrophillic parts in soap?

Watch Video Solution

147. Name the carboxylic acid used as preservation.

Watch Video Solution

148. Draw the structure of butanoic acid .

Watch Video Solution

C3H7COOH

149. How do you appreciate the role of esters in daily life ?

Watch Video Solution

https://dl.doubtnut.com/l/_KQGduc1NWlVC
https://dl.doubtnut.com/l/_oHnQl8p57ugl
https://dl.doubtnut.com/l/_JbXD6vEg9xqV
https://dl.doubtnut.com/l/_NLB5d6EgUWpH
https://dl.doubtnut.com/l/_NeJ5pkXoJejO


150. Draw the diagram showing  hybridization in ethene.

Watch Video Solution

sp2

151. Draw the diagram showing sp hybridization in ethyne.

Watch Video Solution

152. What type of reaction is involved in the conversion of

ammonium cyanate to urea.

Watch Video Solution

153. Give an example for ring or cyclic compound.

Watch Video Solution

https://dl.doubtnut.com/l/_NeJ5pkXoJejO
https://dl.doubtnut.com/l/_dxYLCV9Yre9w
https://dl.doubtnut.com/l/_EGomaEwtvngm
https://dl.doubtnut.com/l/_vh0ikETb1wUn


154. Which of the following compounds are unsaturated ? Justify

your answer. 

Watch Video Solution

CH3 − CH ≡ CH2

155. The following compounds are unsaturated ? Justify your

answer. 

Watch Video Solution

CH3 − C ≡ CH

156. Which of the following compounds are unsaturated ? Justify

your answer. 

Watch Video Solution

HC ≡ C − CH = CH2

157. What are hydrophobic and hydrophillic parts in soap?

https://dl.doubtnut.com/l/_IPOx1XepKnQG
https://dl.doubtnut.com/l/_wVzCNavDnfKh
https://dl.doubtnut.com/l/_Gx7eDRr31aCQ
https://dl.doubtnut.com/l/_U5UxCwiG5o4I


Watch Video Solution

158. Give the decreasing order of priority for choosing and naming

a principal characteristic group.

Watch Video Solution

159. How do you appreciate the role of carbon in everyday life ?

Watch Video Solution

160. A carbon compound has many functional groups, then order

of preference while naming it according to IUPAC nomenclature is

Watch Video Solution

https://dl.doubtnut.com/l/_U5UxCwiG5o4I
https://dl.doubtnut.com/l/_ADlTbe3kWjPt
https://dl.doubtnut.com/l/_RBciapT4RyYQ
https://dl.doubtnut.com/l/_fHY82KGv8Zp6
https://dl.doubtnut.com/l/_g8H25MZYc9W1


161. Write the physical properties of Ethanol.

Watch Video Solution

162. Explain the occurrence of carbon.

Watch Video Solution

163. Explain about allotropic forms of carbon.

Watch Video Solution

164. Explain the classification of hydrocarbons.

Watch Video Solution

https://dl.doubtnut.com/l/_g8H25MZYc9W1
https://dl.doubtnut.com/l/_0yeluZmDsJxR
https://dl.doubtnut.com/l/_l5td9VslCYJL
https://dl.doubtnut.com/l/_EEGijVGJBXIV


165. Explain addition reactions.

Watch Video Solution

166. What are ethers ? Give examples.

Watch Video Solution

167. Why carbon does not form  ?

Watch Video Solution

C 4+

168. Why does carbon form compounds mainly by covalent

bonding?

Watch Video Solution

https://dl.doubtnut.com/l/_moOEfmJjNaQQ
https://dl.doubtnut.com/l/_pqaemes7vJxY
https://dl.doubtnut.com/l/_SWKF4uMzCU46
https://dl.doubtnut.com/l/_HzcrvDKcqz8q


169. Allotropy is a property shown by which class of

substances:elements, compounds or mixtures? Explain allotropy

with suitable examples.

Watch Video Solution

170. Why diamond is hard compared with graphite?

Watch Video Solution

171. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH2 − CH2

https://dl.doubtnut.com/l/_HzcrvDKcqz8q
https://dl.doubtnut.com/l/_SKujrp1ENhhi
https://dl.doubtnut.com/l/_z0RyBbsiYVxN
https://dl.doubtnut.com/l/_QYhP2L1o9RSB


172. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH = CH2

173. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

174. What are isotones and isomers.

Watch Video Solution

175. Draw the structure of isomers of butane.

W t h Vid S l ti

https://dl.doubtnut.com/l/_MJ8JznA9xRRa
https://dl.doubtnut.com/l/_ms5O3QMYNgNu
https://dl.doubtnut.com/l/_vwpiE9XjcoC4
https://dl.doubtnut.com/l/_v5YqHkYgEhrV


Watch Video Solution

176. What happens when a small piece of sodium is dropped into

ethanol?

Watch Video Solution

177. What type of reaction takes place between ethane and

chlorine?

Watch Video Solution

178. What are the two properties of carbon which lead to the huge

number of carbon compounds we see around us?

Watch Video Solution

https://dl.doubtnut.com/l/_v5YqHkYgEhrV
https://dl.doubtnut.com/l/_Wd95HL0jDGL6
https://dl.doubtnut.com/l/_FFu25lHtSdh4
https://dl.doubtnut.com/l/_RxDSqZnFqrGe
https://dl.doubtnut.com/l/_Tunh9bf6jb8A


179. Draw the structure for the following compounds : Propanoic

acid

Watch Video Solution

180. Draw the structure for the following compounds :

Chlorobutane

Watch Video Solution

181. Draw the structure for the following compounds : Hexanone

Watch Video Solution

182. Draw the structure for the following compounds : Pentanal

Watch Video Solution

https://dl.doubtnut.com/l/_Tunh9bf6jb8A
https://dl.doubtnut.com/l/_99S3mAmCKRn8
https://dl.doubtnut.com/l/_isWkJFOIa7Uf
https://dl.doubtnut.com/l/_d4KA4wCcC69h


183. How could you name the following compounds ?

Watch Video Solution

CH3 − CH2 − CH2 − Br

184. How could you name the following compounds ?

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − C ≡ CH

185. An organic compound X with a molecular formula 

undergoes oxidation with in presence of alkaline  to form

a compound Y. X on heating in presence of con.  at 443 k

gives Z. Which on reaction with  and decolorizes, it. Identify X,

Y and Z write the reactions involved.

C2H6O

KMnO4

H2SO4

Br2

https://dl.doubtnut.com/l/_d4KA4wCcC69h
https://dl.doubtnut.com/l/_KZ6Dcxsvryd0
https://dl.doubtnut.com/l/_b7dtTPO1dU3h
https://dl.doubtnut.com/l/_YxvbrIN6Jb5S


Watch Video Solution

186. A mixture of oxygen and ethyne is burnt for welding. Can you

tell why a mixture of ethyne and air is not used ?

Watch Video Solution

187. How do you prepare Ethanol from ethene?

Watch Video Solution

188. Write the names of the organic compounds which have the

following structure : 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_YxvbrIN6Jb5S
https://dl.doubtnut.com/l/_JGNCxFU9tEYS
https://dl.doubtnut.com/l/_A6TfsO8k9Xe8
https://dl.doubtnut.com/l/_mERIaAedwlYU
https://dl.doubtnut.com/l/_jKgLoVQoPxoj


189. Draw the structure of isomers of butane.

Watch Video Solution

190. Draw the structure of: Ethanoic acid

Watch Video Solution

191. Draw the structure of: propanol

Watch Video Solution

192. Draw the structure of: propene

Watch Video Solution

https://dl.doubtnut.com/l/_jKgLoVQoPxoj
https://dl.doubtnut.com/l/_d3CCBzC1LMHX
https://dl.doubtnut.com/l/_XXNr78PNRg5R
https://dl.doubtnut.com/l/_RyCPJ5rkrpTk


193. Draw the structures of the following : 2-Chloro Propene.

Watch Video Solution

194. Draw the structure of ethane and electron dot structure of

chlorine.

Watch Video Solution

195. Draw the structure of: 2-bromo pentane

Watch Video Solution

196. Draw the structure of:2-methyl propane

Watch Video Solution

https://dl.doubtnut.com/l/_3B7DNWbuwwLq
https://dl.doubtnut.com/l/_MtJfh4bS0Qza
https://dl.doubtnut.com/l/_IosQERCFfIMi
https://dl.doubtnut.com/l/_Qc0zETMj42M8


197. Explain the possibility of bonds formation by a carbon atom

with examples.

Watch Video Solution

198. Explain  hybridization with an example.

Watch Video Solution

sp2

199. Explain sp hybridization.

Watch Video Solution

200. How do you explain the ability of carbon atom to form one

single bond and one triple bond?

https://dl.doubtnut.com/l/_Qc0zETMj42M8
https://dl.doubtnut.com/l/_GlegbGI8mDos
https://dl.doubtnut.com/l/_cWQzv1hp9wIQ
https://dl.doubtnut.com/l/_GFUoARLkIgbK
https://dl.doubtnut.com/l/_xE1EQUkxoB8j


Watch Video Solution

201. Explain the structures of Diamond.

Watch Video Solution

202. Write about the structures of buckminsterfullerene.

Watch Video Solution

203. What are nanotubes?

Watch Video Solution

https://dl.doubtnut.com/l/_xE1EQUkxoB8j
https://dl.doubtnut.com/l/_0NCYccV19TMO
https://dl.doubtnut.com/l/_m1jbx71fYmCA
https://dl.doubtnut.com/l/_mIciFS5uIvHe


204. What is the information given by the IUPAC name of an

organic compound ?

Watch Video Solution

205. Define substitution reaction and give an example.

Watch Video Solution

206. What is amine group ?

Watch Video Solution

207. Explain various types in amines.

Watch Video Solution

https://dl.doubtnut.com/l/_A5Um3jsWLz7f
https://dl.doubtnut.com/l/_BP1Brr2NbHaZ
https://dl.doubtnut.com/l/_EvvCyMfv1dsI
https://dl.doubtnut.com/l/_4UZ6EEo164ao


208. Give next Homologs of the following compounds and also

give structure, formula and name : HCHO.

Watch Video Solution

209. Give next Homologs of the following compounds and also

give structure, formula and name : 

Watch Video Solution

CH3OH

210. What are the characteristics of homologous series ?

Watch Video Solution

https://dl.doubtnut.com/l/_4UZ6EEo164ao
https://dl.doubtnut.com/l/_BcOfEKhN3DsO
https://dl.doubtnut.com/l/_lmbVPWIZFl0b
https://dl.doubtnut.com/l/_4HMQAwtmAmP5


211. Write the IUPAC name of:

,

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH2 − CH2 − CH2 − CH2CH2OH

212. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH = CH − CH2 − C ≡ CH

213. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CHO

https://dl.doubtnut.com/l/_78p0EBoMVPVb
https://dl.doubtnut.com/l/_dMztBCL566qk
https://dl.doubtnut.com/l/_hXN8eDmMyiho


214. Write the IUPAC name of:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CHO

215. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

216. Explain the structure of graphite in terms of bonding and give

one property based on this structure.

Watch Video Solution

217. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

C2H4O2

https://dl.doubtnut.com/l/_sWTqfSl6FBUS
https://dl.doubtnut.com/l/_Yst7yNDRxR4n
https://dl.doubtnut.com/l/_Zh2IH3cofxqI
https://dl.doubtnut.com/l/_1HOMBRyIArSh


bicarbonate. Answer the following : Identify the organic

compound.

Watch Video Solution

218. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : Write the chemical equation

for the above reaction.

Watch Video Solution

C2H4O2

219. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : Name the gas evolved.

Watch Video Solution

C2H4O2

https://dl.doubtnut.com/l/_1HOMBRyIArSh
https://dl.doubtnut.com/l/_efyPCO3mopyL
https://dl.doubtnut.com/l/_6ErdFwYSoVGn


220. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : How will you test the gas

evolved?

Watch Video Solution

C2H4O2

221. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : List two important uses of the

above compound.

Watch Video Solution

C2H4O2

222. Vinegar is a solution of

https://dl.doubtnut.com/l/_efqCj2Wc8utZ
https://dl.doubtnut.com/l/_1aUvbyTEJTIz
https://dl.doubtnut.com/l/_eLF8ReuT2DOt


A. 50 - 60 % acetic acid in alcohol

B. 5 - 8% acetic acid in alcohol

C. 5- 8% acetic acid in water

D. 50 - 60% acetic acid in water

Answer:

Watch Video Solution

223. Pentane has the molecular formula  . It has

A. 5 covalent bonds

B. 12 covalent bonds

C. 16 covalent bonds

D. 17 covalent bonds

C5H12

https://dl.doubtnut.com/l/_eLF8ReuT2DOt
https://dl.doubtnut.com/l/_pe7Yz3s6IbpY


Answer:

Watch Video Solution

224. Which of the following compounds are unsaturated ? Justify

your answer. 

A. a and c

B. b and c

C. b and d

D. c and d

Answer:

Watch Video Solution

CH3 − CH ≡ CH2

https://dl.doubtnut.com/l/_pe7Yz3s6IbpY
https://dl.doubtnut.com/l/_1kcF40B7xmq8


225. The heteroatoms present in

 are a) Oxygen,b) Carbon,c)

Hydrogen,d)Chlorine

A. a and b

B. b and c

C. c and d

D. a and d

Answer:

Watch Video Solution

CH3CH2 − O − CH2 − CH2CI

226. A molecule of ammonia  has

A. only single bonds

(NH3)

https://dl.doubtnut.com/l/_7XfpTEYpXYf2
https://dl.doubtnut.com/l/_FRSD4ffd9TJK


B. only double bonds

C. only triple bonds

D. two double bonds and one single bond

Answer:

Watch Video Solution

227. Mineral acids are stronger acids than cardoxylic acids because

A. mineral acids are completely ionised

B. carboxylic acids are completely ionised

C. mineral acids are partially ionised

D. carboxylic acids are partially ionised

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_FRSD4ffd9TJK
https://dl.doubtnut.com/l/_VZy6YXHubYPP


Watch Video Solution

228. The reaction of an alcohol with carboxylic acid is called

A. Combustion

B. Esterification

C. Saponification

D. None of these

Answer:

Watch Video Solution

229. In the presence of concentrated sulphuric acid acetic acid

reacts with ethyl alcohol to produce

A. Aldehyde

https://dl.doubtnut.com/l/_VZy6YXHubYPP
https://dl.doubtnut.com/l/_8875dW4FLQFz
https://dl.doubtnut.com/l/_aYLYM4Cd45uP


B. Alcohol

C. Ester

D. Carboxylic acid

Answer:

Watch Video Solution

230. Which of the following has shortest carbon-carbon bond

length ?

A. 

B. 

C. 

D. 

Answer:

C2H2

C2H4

C2H6

C6H6

https://dl.doubtnut.com/l/_aYLYM4Cd45uP
https://dl.doubtnut.com/l/_ZxhFLqn8n1bQ


Watch Video Solution

231. Which of the following are isomers ?

A. Butane and Isobutene

B. Ethane and Ethene

C. Propane and Propyne

D. Butane and Isobutane

Answer:

Watch Video Solution

232. Which of the following statements are usually correct for

carbon compounds ? These 

a) are good conductors of electricity 

https://dl.doubtnut.com/l/_ZxhFLqn8n1bQ
https://dl.doubtnut.com/l/_UFTTHxqrrBkd
https://dl.doubtnut.com/l/_uADYlxCibPwM


b) are poor conductors of electricity 

c) have strone forces of attraction between their molecules 

d) do not have strong forces of attraction between their

molecules .

A. . 

B. . 

C. . 

D. . 

Answer:

Watch Video Solution

1 a&c

2 b&c

3 a&d

4 b&d

233. The structures of four organic compounds are shown below . 

Which compounds decolourise bromine water ? 

https://dl.doubtnut.com/l/_uADYlxCibPwM
https://dl.doubtnut.com/l/_YopwQ2E003sB


A. 1 and 2 only

B. 1,2 and 4 only

C. 2 and 4 only

D. 3 and 4 only

Answer:

Watch Video Solution

234. A spherical aggregate of soap molecules in water is called

A. Hydrophilic end

B. Hydropholic end

https://dl.doubtnut.com/l/_YopwQ2E003sB
https://dl.doubtnut.com/l/_ANSb8z8haLHq


C. Miscelle

D. Cation

Answer:

Watch Video Solution

235. Bad conductor of electricity is

A. Graphite

B. Graphen

C. Diamond

D. Nanotube

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ANSb8z8haLHq
https://dl.doubtnut.com/l/_XBi0IphbcG3O


236.  hybridization is found in

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Sp3

CH4

C2H2

C2H4

C2H6

237. Which of the following is a good conductor of heat and

electricity?

A. Anthracite

B. Charcoal

https://dl.doubtnut.com/l/_zKwEOrLkupT0
https://dl.doubtnut.com/l/_3dM6rYvA80Cq


C. Diamond

D. Graphite

Answer:

Watch Video Solution

238. The functional group of Ketones is ____

A. -OH

B. -CHO

C. -O-

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3dM6rYvA80Cq
https://dl.doubtnut.com/l/_mI7kXRP85aDP


239. Chief component of cooking as is

A. Butane

B. Methane

C. Ethane

D. Octane

Answer:

Watch Video Solution

240. The functional group present in carboxylic acid is _________

A. -OH

B. -CHO

C. -COOH

https://dl.doubtnut.com/l/_Qy5BkP7UAxVQ
https://dl.doubtnut.com/l/_cf8Ea8mdOGCN


D. -CO

Answer:

Watch Video Solution

241. The sodium salt of a long chain fatty acids is called______

A. An ester

B. A detergent

C. A soap

D. A fat

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_cf8Ea8mdOGCN
https://dl.doubtnut.com/l/_zwvFRMo0dKdn


242. A dilute solution of ethanoic acid in water is called

A. Tincture of iodine

B. Fehling’s solution

C. Vinegar

D. Tollen’s reagent

Answer:

Watch Video Solution

243. Ethanol on oxidation gives

A. Ethane

B. Formalin

C. Ethanoic acid

https://dl.doubtnut.com/l/_DCpIWt5AP7vj
https://dl.doubtnut.com/l/_M6SDySR7DvzU


D. Methane

Answer:

Watch Video Solution

244. Methane is a major constituent of _________

A. Coal gas

B. Water gas

C. Petroleum

D. Bio gas

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_M6SDySR7DvzU
https://dl.doubtnut.com/l/_2P2b1Egy6fqx


245. n-butane and iso butane are

A. Alkanes

B. Alkynes

C. Isomers

D. Polymers

Answer:

Watch Video Solution

246. What property of carbon allows it to form a large number of

carbon compounds?

A. Tetravalency

B. Catenation

https://dl.doubtnut.com/l/_KSNS2Xhhzfme
https://dl.doubtnut.com/l/_3zchV3IvFmLe


C. Electronegativity

D. Electropositivity

Answer:

Watch Video Solution

247. The general formula of alkenes is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n

CnH2n−1

CnH2n+2

CnH2n+1

https://dl.doubtnut.com/l/_3zchV3IvFmLe
https://dl.doubtnut.com/l/_sSZJyimFiOsX


248. Compounds made up of carbon and hydrogen only are called

A. Alkanes

B. Alkenes

C. Alkynes

D. Hydrocarbons

Answer:

Watch Video Solution

249. The IUPAC name of  _____

A. Ethylene

B. Ethene

C. Ethyne

C2H2

https://dl.doubtnut.com/l/_rUx8pcAOFYLK
https://dl.doubtnut.com/l/_Ekb3WBX57YCm


D. Alkene

Answer:

Watch Video Solution

250. The portion left on dropping a hydrogen atom from an alkane

is called__

A. Functional group

B. Alkenyl group

C. Alkyl group

D. Phenyl group

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ekb3WBX57YCm
https://dl.doubtnut.com/l/_qrn8PBobI5mj


251. Open chain saturated hydrocarbons are called

A. Paraffins

B. Alkenes

C. Alkynes

D. Alkyl groups

Answer:

Watch Video Solution

252. Diamond and graphite are

A. isomers

B. Allotropes

C. Homologous

https://dl.doubtnut.com/l/_OcEn9klvNj0A
https://dl.doubtnut.com/l/_riQrwLSTgeTG


D. Metals

Answer:

Watch Video Solution

253. The functional group present in ethers is

A. . 

B. . 

C. . 

D. . 

Answer:

Watch Video Solution

1 −C = O

2 −C − OH

3 C − O − C

4 −COOH

https://dl.doubtnut.com/l/_riQrwLSTgeTG
https://dl.doubtnut.com/l/_F4SvvMBBoiZ3


254. has arranged by _______pentagons and _______hexagons.

A. 20, 12

B. 12, 20

C. 21,20

D. 12,01

Answer:

Watch Video Solution

C60

255. Carbon compounds containing double and triple bonds are

called_____

A. Saturated hydrocarbons

B. Unsaturated hydrocarbons

https://dl.doubtnut.com/l/_5iMdAefqsrtd
https://dl.doubtnut.com/l/_MlqDDdyDln5o


C. Semi saturated hydrocarbons

D. Hydrocarbons

Answer:

Watch Video Solution

256. The sweet smelling substance formed when carboxylic acid

reacts with alcohols

A. Hydroxy

B. Ester

C. Benzene

D. Ethyl alcohol

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MlqDDdyDln5o
https://dl.doubtnut.com/l/_pQVqPeyBuHmY


257. The functional group present in methanol is___

A. Alcohol

B. Acid

C. Ester

D. Ketone

Answer:

Watch Video Solution

258. IUPAC name of alkene containing 3 carbon atoms is___

A. Propane

B. Propyne

https://dl.doubtnut.com/l/_pQVqPeyBuHmY
https://dl.doubtnut.com/l/_q1VqN74d8H8Q
https://dl.doubtnut.com/l/_Ft6pYOwwOg01


C. Propene

D. Propelene

Answer:

Watch Video Solution

259. The first member of homologous series among alkynes is____

A. Ethyne

B. ethane

C. Pentyne

D. Butyne

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ft6pYOwwOg01
https://dl.doubtnut.com/l/_lXJ6zN8U7wJt


260. Number of single covalent bonds in ammonia are

A. 2

B. 3

C. 4

D. 1

Answer:

Watch Video Solution

261. Type of reactions shown by alkanes is____

A. . Addition

B. . thermal

C. . Substitution

1

2

3

https://dl.doubtnut.com/l/_34K77UazfsDl
https://dl.doubtnut.com/l/_om5wEveHVreb


D. . Chain

Answer:

Watch Video Solution

4

262. The distance between two graphite layers is

A. 3A

B. 4

C. 3 A

D. A

Answer:

Watch Video Solution

3 ⋅ 6

3 ⋅ 35

https://dl.doubtnut.com/l/_om5wEveHVreb
https://dl.doubtnut.com/l/_neQjlJ82Sk5C


263. General formula of saturated hydro carbon is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n

CnH2n+2

CnH2n−2

CnHn

264. Give next Homologs of the following compounds and also

give structure, formula and name : 

A. 

B. 

CH3OH

C2H5OH

C2H4OH

https://dl.doubtnut.com/l/_u0dwKzIMskFj
https://dl.doubtnut.com/l/_ITfH38CYRaV5


C. 

D. 

Answer:

Watch Video Solution

CH4OH

C2H3OH

265. Hydrolysis of an ester in presence of NaOH is called

saponification. Explain. 

A. Carbonation

B. esterification

C. Calcination

D. Saporification

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ITfH38CYRaV5
https://dl.doubtnut.com/l/_ERrjnf0i289h


266.  : sp : :  : ______

A. Sp

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H2 CH4

sp2

sp3

sp∘

267. IUPAC name of glycerol is

A. Propane

B. propaol

https://dl.doubtnut.com/l/_ERrjnf0i289h
https://dl.doubtnut.com/l/_k4fbH9fg38OW
https://dl.doubtnut.com/l/_eLYkKyF7NpOT


C. Propane 1, 2,3-diol

D. Propane 1, 2, 3- triol

Answer:

Watch Video Solution

268. Carbon compounds having same molecular formula but

different properties are known as

A. Isomers

B. homologues

C. Carboxyles

D. Monomers

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eLYkKyF7NpOT
https://dl.doubtnut.com/l/_RBrCrEmtNATC


269. Carbon has _____________________ electrons in its valence shell.

A. 2

B. 4

C. 6

D. 8

Answer:

Watch Video Solution

270. The first two members of alkene series is

A. Methene, ethene

B. Methane, ethane

https://dl.doubtnut.com/l/_RBrCrEmtNATC
https://dl.doubtnut.com/l/_4orqo4JL8tsa
https://dl.doubtnut.com/l/_0RiuZnJ5aoAR


C. Ethene, propene

D. Ethyne, propyne

Answer:

Watch Video Solution

271. _______is also known as marsh gas.

A. Methane

B. Ethane

C. Propane

D. Butane

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0RiuZnJ5aoAR
https://dl.doubtnut.com/l/_frMjrlIrUA9q


272. Biogas on burning does not create ____________________

A. . Hydrocarbons

B. . pollution

C. . noise

D. . heat

Answer:

Watch Video Solution

1

2

3

4

273. Natural gas is mixture of gaseous________

A. Hydrocarbons

B. esters

C. acid

https://dl.doubtnut.com/l/_tMVouLNDulgf
https://dl.doubtnut.com/l/_kI6GzXMXgNsy


D. bases

Answer:

Watch Video Solution

274. Combustion reaction of carbon i) requires  ii) releases heat

iii) releases 

A. (i)Is true

B. (ii)is true

C. (i)& (ii) are true

D. All are true

Answer:

Watch Video Solution

O2

CO2

https://dl.doubtnut.com/l/_kI6GzXMXgNsy
https://dl.doubtnut.com/l/_GaAJ7EqBXfa9


275. Black lead is

A. Coal

B. Charcoal

C. Graphite

D. graphene

Answer:

Watch Video Solution

276. Carbon compounds have usually low melting points and

boiling points because they are________in nature

A. covalent

B. Ionic

https://dl.doubtnut.com/l/_qsF1cMYFFLCZ
https://dl.doubtnut.com/l/_yYRKz90BAlED


C. Chemical

D. Gases

Answer:

Watch Video Solution

277. Compounds made up of carbon and hydrogen only are called

A. Hydroxy

B. Carboxy

C. Carbohydrates

D. Hydrocarbons

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yYRKz90BAlED
https://dl.doubtnut.com/l/_WwjLDt6uTyqV


278.  is the general formula of ___________________

hydrocarbons.

A. Unsaturated

B. Saturated

C. Semi saturated

D. Super saturated

Answer:

Watch Video Solution

CnH2n

279. Ethene and ethyne are examples of_____hydrocarbons

A. Saturated

B. Unsaturated

https://dl.doubtnut.com/l/_6QPzZUVMH69x
https://dl.doubtnut.com/l/_O8XWQhd38FGv


C. Semi saturated

D. Super saturated

Answer:

Watch Video Solution

280. Ethyne has_______carbon-hydrogen single bonds.

A. 3

B. 4

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_O8XWQhd38FGv
https://dl.doubtnut.com/l/_Tx89XZk38Tuq


281. The IUPAC name of ethylene is_____________________

A. Ethane

B. Ethene

C. Ethyne

D. Ethyl

Answer:

Watch Video Solution

282. The sodium salt of a long chain fatty acids is called______

A. Sodium salt

B. Acidic fat

C. Detergent

https://dl.doubtnut.com/l/_ZyFwavgw1QbJ
https://dl.doubtnut.com/l/_nM4o2RjSPttm


D. Soap

Answer:

Watch Video Solution

283. Aromatic compounds readily undergo ________substitution

reactions.

A. Addition

B. Substitution

C. Thermal

D. Oxidation

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nM4o2RjSPttm
https://dl.doubtnut.com/l/_SPParaVneErX


284. Chloromethane________________________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH4Cl

CH3Cl

CH5Cl

CHCl2

285. Butene____________________

A. . 

B. . 

C. . 

1 C4H6

2 C4H10

3 C4H8

https://dl.doubtnut.com/l/_XDPmyIe2W2NF
https://dl.doubtnut.com/l/_SYtw3UR3YIQm


D. . 

Answer:

Watch Video Solution

4 C4H4

286. Ethylene_______________________

A. . 

B. . 

C. . 

D. . 

Answer:

Watch Video Solution

1 C2H2

2 C2H6

3 C2H4

4 CH3

https://dl.doubtnut.com/l/_SYtw3UR3YIQm
https://dl.doubtnut.com/l/_KJ3qhYtOBX0j


287. In which of the following state carbon undergoes

hybridisation?

A. Ground state

B. First excited state

C. Second excited state

D. In atomic state

Answer:

Watch Video Solution

288. Diamond is hard. This is due to

A. . Strong bonds

B. . Network structure

1

2

https://dl.doubtnut.com/l/_UqIgQaLewgim
https://dl.doubtnut.com/l/_eMGSQiv0awki


C. . High refractive Index

D. . All the above

Answer:

Watch Video Solution

3

4

289. also called

A. . Nanotubes

B. . Stem tubes

C. . Buckminsterfullerene

D. . All the above

Answer:

Watch Video Solution

C60

1

2

3

4

https://dl.doubtnut.com/l/_eMGSQiv0awki
https://dl.doubtnut.com/l/_mWmGhx74tkV3


290. Nanotubes were discovered by

A. . Kroto & Smalley

B. . F.Curi

C. . Sumio Ii jima

D. . Pauling

Answer:

Watch Video Solution

1

2

3

4

291. The versatile nature of carbon is due to

A. Forms large number of compounds

B. Catenation

C. Forms various types of bonds

https://dl.doubtnut.com/l/_U9QZBZjFMgxF
https://dl.doubtnut.com/l/_ZShuC2d0EKyh


D. All the above

Answer:

Watch Video Solution

292. Structural Isomers differ in

A. Molecular formula

B. Structures

C. Nature of atoms

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZShuC2d0EKyh
https://dl.doubtnut.com/l/_j66QGl4LCpk7


293. Which of the following is correct structure for But – 1, 2 –

diene ?

A. - - CH = 

B.  = CH – CH = 

C.  -CH = C = 

D.  -  - - 

Answer:

Watch Video Solution

CH3 CH2 CH2

CH2 CH2

CH3 CH2

CH3 CH2 CH2 CH3

294. The type of substitution reaction that takes place when

methane is treated with  in presence of light

A. Oxidation reaction

Cl2

https://dl.doubtnut.com/l/_bZTp8G1sdLdO
https://dl.doubtnut.com/l/_wstaJxBhMQQQ


B. Combustion reaction

C. Addition reaction

D. Substitution reaction

Answer:

Watch Video Solution

295. Carbon compounds containing double and triple bonds are

called_____

A. Saturated compounds

B. Unsaturated compounds

C. Cyclo compounds

D. Aromatic compounds

Answer:

https://dl.doubtnut.com/l/_wstaJxBhMQQQ
https://dl.doubtnut.com/l/_5tDhnORvngAQ


Watch Video Solution

296. Carbon undergoes hybridisation in excited state. The energy

for excitation is obtained from

A. . Neighbouring atoms

B. . From bond energies

C. . Self generated

D. . All

Answer:

Watch Video Solution

1

2

3

4

297. Diamond is insulator, but graphite is a conductor. Why?

https://dl.doubtnut.com/l/_5tDhnORvngAQ
https://dl.doubtnut.com/l/_9tcqzx21cdPy
https://dl.doubtnut.com/l/_0udxN40WOcp1


A. Tetrahedral arrangement of carbons in diamond

B. Trigonal arrangement of carbons in grapic

C. Delocalised  electron system in graphite

D. Delocalised  electron system in diamond

Answer:

Watch Video Solution

π

π

298. Ethanoic acid reacts with ethanol in presence conc.  .

This is called esterfication. Which of the following is incorrect

about above process ?

A. . Product has sweet smell

B. . Product contain functional group

C. . The IUPAC name of product is ethyl ethanoate

H2SO4

1

2

3

https://dl.doubtnut.com/l/_0udxN40WOcp1
https://dl.doubtnut.com/l/_oLJITonM2HPi


D. . It is an oxidation reaction

Answer:

Watch Video Solution

4

299. Explain  hybridization in methane.

A. 

B. 

C. Sp

D. 

Answer:

Watch Video Solution

sp3

Sp3

sp2A

sp3d

https://dl.doubtnut.com/l/_oLJITonM2HPi
https://dl.doubtnut.com/l/_pRrGGMyq6X4v


300. Hybridisation and bond angle in ethene is

A. ,

B. Sp ,

C. Sp,180

D. , 28'

Answer:

Watch Video Solution

Sp3 120∘

120∘

sp3 109∘

301. Diamond and graphite are

A. Strong electrostatic forces

B. London dispersion-Bond forces

C. Ionic forces

https://dl.doubtnut.com/l/_ayyddVer3IEF
https://dl.doubtnut.com/l/_iqGS8poTMUqY


D. Dipole – dipole forces

Answer:

Watch Video Solution

302. Which of the following scientist disproved vital force theory?

A. . Berzelius

B. . Wurtz

C. . Wohler

D. . Kolbe's

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_iqGS8poTMUqY
https://dl.doubtnut.com/l/_u3aXDW4h3lVo


303. Alkyl group is represented by

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n+2

CnH2n+1

CnH2n

CnH(2n − 2)

304. The molecular formula of formaldehyde is

A. 

B. HCHO

C. 

CH3CHO

CH3OH

https://dl.doubtnut.com/l/_4TaQkmPYb55C
https://dl.doubtnut.com/l/_paeAHeew1h2u


D. 

Answer:

Watch Video Solution

CH3COOH

305. The nature of second grade functional groups is given by

A. Primary prefix

B. Secondary prefix

C. Primary suffix

D. Secondary suffix

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_paeAHeew1h2u
https://dl.doubtnut.com/l/_eRSVd1KnWee0


306. Conversion of ethyl alcohol into Acetic acid is

A. Combustion

B. Oxidation

C. Addition

D. Substitution

Answer:

Watch Video Solution

307. Unsaturated carbon compound usually give

A. Combustion

B. Oxidation

C. Addition

https://dl.doubtnut.com/l/_CLPwv2tPLN1S
https://dl.doubtnut.com/l/_ZTh1u9cyezZ4


D. Substitution

Answer:

Watch Video Solution

308. Vegetable oils contains

A. Saturated long chain fatty acid

B. Saturated long chain alcohols

C. Unsaturated long chain fatty acid

D. Unsaturated long chain alcohols

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZTh1u9cyezZ4
https://dl.doubtnut.com/l/_YmdvLHAHtqFX


309. Gasohol is a mixture of

A. Alcohol + ether

B. Alcohol + water

C. Alcohol + gasoline

D. Alcohol + Kerosene

Answer:

Watch Video Solution

310. Alkaline hydrolysis of fats is called

A. Esterification

B. Saponification

C. Hydrolysis

https://dl.doubtnut.com/l/_oNPOYAoWl8Kb
https://dl.doubtnut.com/l/_DMyGWWU8OTAd


D. Hydrogenation

Answer:

Watch Video Solution

311. The solvent in colloidal solution is

A. Solution

B. Dispersion medium

C. Dispersion phase

D. Suspension

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DMyGWWU8OTAd
https://dl.doubtnut.com/l/_3M4JiKiArJ7O


312. Hexane________________________________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H6

C6H12

C6H14

C6H10

313. Assertion (A):Carbon cannot for ions so easily.Reason

(R):It would be difficult for a nucleus with six protons to hold ten

electrons.

C 4 −

https://dl.doubtnut.com/l/_EhfPCjPlV5a7
https://dl.doubtnut.com/l/_T0bJYrSG9yMU


A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R’ is false

D. A is false but ‘R’ is true

Answer:

Watch Video Solution

314. P: Carbon absorb the energy to getExcited state. q: The

energy required for excitation carbon taken up from bond

energies when bonds are formed

A. P and q are true

https://dl.doubtnut.com/l/_T0bJYrSG9yMU
https://dl.doubtnut.com/l/_7aal235AVdZ3


B. P is true but is false

C. P is false but q is true

D. P and q are false

Answer:

Watch Video Solution

315. Assertion (A) : Diamond is one of the hardest materials.

Reason (R): The C-C bonds in diamond are very strong and

requires large amounts of energy to distroy.

A. Both ‘A’ and ‘R are true and ‘R’ is the correct explanation of ‘A’

B. Both ‘A And ‘R’ are true but ‘R’ does not the correct

explanation of ‘A”

C. ‘A’ is true but ‘R’ is false

https://dl.doubtnut.com/l/_7aal235AVdZ3
https://dl.doubtnut.com/l/_JjStVnPpluHa


D. A Is false but ‘R’ is true

Answer:

Watch Video Solution

316. Assertion (A) : -  -  - , and are

isomers.Reason (R) : Isomers have different molecular formulae

and same properties.

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R’ Is false

D. A is false but ‘R’ is true

CH3 CH2 CH2 CH3

https://dl.doubtnut.com/l/_JjStVnPpluHa
https://dl.doubtnut.com/l/_jIznwG47ZUqo


Answer:

Watch Video Solution

317. (A) : Carbon forms a large number of compounds 

(R) : Carbon has high catenation power 

A. (i)

B. (ii)

C. (iii)

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jIznwG47ZUqo
https://dl.doubtnut.com/l/_YAx09hqkYv4W


318. Assertion (A):  ,  ,  is a homologous series.

Reason (R) : A homologous series of carbon compounds which two

successive compounds differ by-CH unit.

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but ‘R’ is true

Answer:

Watch Video Solution

CH4 C2H6 C3H8

https://dl.doubtnut.com/l/_n0SyUcGtxOn3


319. (A): An oxidation reaction requires oxygen always.(B) : A

combustion reaction requires oxygen always.

A. Both A and B are true

B. Both A and B are false

C. ‘A is true but ‘B’ is false

D. ‘A’ is false but ‘B’ is true

Answer:

Watch Video Solution

320. Assertion (A) : Unsatured organic com pounds undergo

substitution reactions. Reason (R) : Unsaturated organic

compounds contain bonds.

A. Both ‘A’ and R’ are true and ‘R’ is the correct explanation of ‘A

= or ≡

https://dl.doubtnut.com/l/_jGorlZrcAnFa
https://dl.doubtnut.com/l/_bVyUWhWGgBLu


B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’.

C. ‘A’ is true but ‘R’ is false

D. A is false but R’ is true

Answer:

Watch Video Solution

321. P : Particles in a true solution are less than 1 nm in diameter.

Q: Particles in a colloidal solution are greater than 1 nm but lesser

than 1000 nm in diameter.

A. P is true

B. q is true

C. A and B

https://dl.doubtnut.com/l/_bVyUWhWGgBLu
https://dl.doubtnut.com/l/_5zQAEPPEIvwD


D. P and q are false

Answer:

Watch Video Solution

322. Why fats are solids at room temperature ?

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but R is true

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_5zQAEPPEIvwD
https://dl.doubtnut.com/l/_BYQSpw6cjnZe


Watch Video Solution

323. Alkanes are also known as

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but R is true

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BYQSpw6cjnZe
https://dl.doubtnut.com/l/_onqYsAwowSFo


324. Predict a substance which can be used as a good conductor

and also as a lubricant.

A. Graphite

B. Diamond

C. Graphene

D. Nanotubes

Answer:

Watch Video Solution

325. What is the product when carbon undergoes combustion

reaction?

A. CH4

https://dl.doubtnut.com/l/_Ug69aLZ2W25l
https://dl.doubtnut.com/l/_2EWuIMrjw4Me


B. 

C. 

D. Above all

Answer:

Watch Video Solution

CO2

C2H5OH

326. What will happen if soap solution Add to dirty grease ?

A. It forms micelle

B. It forms acetic acid

C. It forms methanol

D. If forms esters

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_2EWuIMrjw4Me
https://dl.doubtnut.com/l/_vYpSU6ZqXRSK


Watch Video Solution

327. Assertion (A) : Micelles present in water will attracts each

other. Reason (R) : Micelles exhibits ion – ion attraction in water.

A. A and R are true

B. A and R are false

C. A is true but R is false

D. A is false but R is true

Answer:

Watch Video Solution

328. There is a substance ‘P’, it has a sweet odour. The ‘P’ may be

A. Ethanoic acid

https://dl.doubtnut.com/l/_vYpSU6ZqXRSK
https://dl.doubtnut.com/l/_EiY1akpGg80r
https://dl.doubtnut.com/l/_Y0YIRlT7DoO6


B. Ehanol

C. Sodium bicarbonate

D. Ethyl acetate

Answer:

Watch Video Solution

329. ............ +  + heat.

A. . Sulphur

B. . Helium

C. . Carbon

D. .Chlorine

Answer:

W t h Vid S l ti

O2 → CO2

1

2

3

4

https://dl.doubtnut.com/l/_Y0YIRlT7DoO6
https://dl.doubtnut.com/l/_T45XUzPu2V5B


Watch Video Solution

330.  + __________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2C2H5OH + 2Na → 2C2H5ONa

CO2

H2

O2

CH4

331. Grease + soap  .......

A. Ethanol

B. Micelle

water
−−−−→

https://dl.doubtnut.com/l/_T45XUzPu2V5B
https://dl.doubtnut.com/l/_aCs4647ZwsKC
https://dl.doubtnut.com/l/_LbNhLsX2wBiW


C. Oil

D. Ester

Answer:

Watch Video Solution

332.  : Substitution Reaction:: :

A. Oxidation reaction

B. Reduction reaction

C. Addition reaction

D. Fermentation

Answer:

Watch Video Solution

CH4 C2H2

https://dl.doubtnut.com/l/_LbNhLsX2wBiW
https://dl.doubtnut.com/l/_aZoX8wsH2rlm


333. Which of the following is formed when ethyl alcohol is treated

with Con  at ?

A. Ethanal

B. Ethene

C. Ethane

D. Ethanol

Answer:

Watch Video Solution

H2SO4 170∘C

334. The product that is formed by dehydration of ethanol in conc.

Sulphuric is formed by dehydration acid is

A. Ethane

https://dl.doubtnut.com/l/_INiId7SIBHwL
https://dl.doubtnut.com/l/_HdFtlmnjM4nU


B. Methane

C. Ethane

D. Ethyne

Answer:

Watch Video Solution

335. ______reacts with sodium metal to produce hydrogen gas.

A. Alcohol

B. Aldehyde

C. Ester

D. Ketone

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HdFtlmnjM4nU
https://dl.doubtnut.com/l/_uNuOfMEKpVjT


Watch Video Solution

336. When ethanolc acid is heated with Ethanol and conc. _________

compound formed is ethyl ethanoate.

A. HCL

B. 

C. 

D. 

Answer:

Watch Video Solution

HNO3

H2SO4

CH3COOH

337. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

C2H6O

KMnO4

https://dl.doubtnut.com/l/_uNuOfMEKpVjT
https://dl.doubtnut.com/l/_sSYGPsywe4vV
https://dl.doubtnut.com/l/_bzrxyvGK0ujS


compound 'Y', that has molecular formula .Identify "X" and

"Y".

A. Acetic acid, ethyl alcohol

B. Acetic’ acid, ethyl acetate

C. Ethyl alcohol, acetic acid

D. Ethyl alcohol, ethyl acetate

Answer:

Watch Video Solution

C2H4O2

338. A few drops of ethanoic acid were added to solid sodium

carbonate. The possible results of the reactions are

A. A hissing sound was evolved

B. Brown fumes evolved

https://dl.doubtnut.com/l/_bzrxyvGK0ujS
https://dl.doubtnut.com/l/_uOXuH9a2dLQQ


C. Brisk effervescene occurred

D. A pungent smelling gas evolved

Answer:

Watch Video Solution

339. If 2ml of acetic acid was added slowly in drops to 5ml of water

then we will notice

A. The actd forms a separate layer on

B. Water forms a separate layer on top of acid

C. Formation of clear and homogeneous solution

D. Formation of a pink and clear solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uOXuH9a2dLQQ
https://dl.doubtnut.com/l/_kQ1NO3Nn5hAN


340. Which one is required to prepare vinegar ?

A. Ethyl acetate

B. Ethanoic acid

C. Ethanol

D. Ethene

Answer:

Watch Video Solution

341. Take Ethanol in a test tube add metallic sodium to it. If you

test the liberated gas with a burning, sprint

A. Will put off

https://dl.doubtnut.com/l/_kQ1NO3Nn5hAN
https://dl.doubtnut.com/l/_9lyqBDecT4Tj
https://dl.doubtnut.com/l/_Ycmtk7xnJWsK


B. Will put off with a pop sound

C. Will light very bright

D. Will give fumes

Answer:

Watch Video Solution

342.  and the given element i) C has 6 electrons, 6

protons and 6 neutrons ii)C is a metal iii) C can form 6 covalent

bonds

A. i ) is true

B. (ii) is true

C. (ii) and (iii) are true

D. All are true

C6 = 1s22s22p6

https://dl.doubtnut.com/l/_Ycmtk7xnJWsK
https://dl.doubtnut.com/l/_PcmTDvPARp0U


Answer:

Watch Video Solution

343. The carbon can form:

i) All single bonds

ii) One double and two single bonds

iii) One single and one triple bond

A. . (i) is true

B. . (ii) is true

C. . (ii) and (iii) are true

D. . All are true

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_PcmTDvPARp0U
https://dl.doubtnut.com/l/_XMylDzte4wDQ


344.  has _________ bonds.

A. . Four sp-s

B. . Four 

C. . Four 

D. . Four 

Answer:

Watch Video Solution

CH4

1

2 sp2 − s

3 sp3 − s

4 sp– sp

345. Name the bonds in the given molecules i)  ii)  iii) 

A. I -single, ii -double, iii -triple

B. I -triple, ii – double, iii – single

CH4 C2H4

C2H2

https://dl.doubtnut.com/l/_TBGo5CtZnQH5
https://dl.doubtnut.com/l/_snyYiNyHG2cj


C. i-double,ii-triple, iii-single

D. All are single bonds

Answer:

Watch Video Solution

346. , ii)  iii) 

 Which of the above is a homologous

series ?

A. (i)

B. (ii)

C. (iii)

D. (ii) and (iii)

Answer:

i)CH4, C3H5, C3H6 CH3OH, C2H5OH, C3H8OH

C8H16, C9H18, C10H20,

https://dl.doubtnut.com/l/_snyYiNyHG2cj
https://dl.doubtnut.com/l/_st0R4lnuC2ZO


Watch Video Solution

347. What is the general formula for the homologous series,

_________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3COOH, C2H5COOH, C3H7COOH

CnH2n+2COOH

CnH2nCOOH

CnH2n+1COOH

CnH2n−2COOH

348. Cyclo butane, the primary prefix is

https://dl.doubtnut.com/l/_st0R4lnuC2ZO
https://dl.doubtnut.com/l/_U5ZCuJ5a4WGI
https://dl.doubtnut.com/l/_0PsGT2TOUDD0


A. Cyclo

B. but

C. an

D. E

Answer:

Watch Video Solution

349. Which of the following is an incorrect structure ?

A. 

B. 

C. 

D. Above all

CH3 − CH2 − CH − CH3

CH2 − CH − CH − CH2

CH3 − CH2 − CH2 − CH4

https://dl.doubtnut.com/l/_0PsGT2TOUDD0
https://dl.doubtnut.com/l/_jmEeBUBQMkb6


Answer:

Watch Video Solution

350. Which of the following is not a compound of C, H and O?

A. Alcohol

B. Aldehyde

C. Ether

D. Amine

Answer:

Watch Video Solution

351. Which of the following is not a alkene?

https://dl.doubtnut.com/l/_jmEeBUBQMkb6
https://dl.doubtnut.com/l/_yA4yTOzLnm2l
https://dl.doubtnut.com/l/_WjnTdbPKzMcB


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H6

C2H4

C8H16

C3H6

352. Which of the following is not belongs to 

A. 

B. 

C. 

D. None

CnH2n+1

CH3

C2H5

C3H7

https://dl.doubtnut.com/l/_WjnTdbPKzMcB
https://dl.doubtnut.com/l/_ECPpBpZmWPdL


Answer:

Watch Video Solution

353. Which of the following is not a saturated hydrocarbon?

A. Hexane

B. Benzene

C. Butane

D. Isobutane

Answer:

Watch Video Solution

354. Which one of the following is not an allotrope of carbon?

https://dl.doubtnut.com/l/_ECPpBpZmWPdL
https://dl.doubtnut.com/l/_dhilWgwk0Mim
https://dl.doubtnut.com/l/_K0cZwTAGyX2o


A. Soap

B. Fullerence

C. Diamond

D. Graphite

Answer:

Watch Video Solution

355. Which of the following is alkane?

A. 

B. 

C. 

D. 

C4H10

C4H8

C4H6

C6H6

https://dl.doubtnut.com/l/_K0cZwTAGyX2o
https://dl.doubtnut.com/l/_g7jo3KMAeBzK


Answer:

Watch Video Solution

356. Which of the following has a foot-ball like structure?

A. Diamond

B. Nanotubes

C. Buckminsterfullerenes

D. All the above

Answer:

Watch Video Solution

357. Which of the following is closed chain hydrocarbon?

https://dl.doubtnut.com/l/_g7jo3KMAeBzK
https://dl.doubtnut.com/l/_Ddf5WlwkcvT4
https://dl.doubtnut.com/l/_FBU2NgKFGbUj


A. Butane

B. Pentane

C. Cyclo pentane

D. Neo pentane

Answer:

Watch Video Solution

358. The isomer of n-butane is

A. 2-methyl propane

B. 2-methyl butane

C. 2 – butene

D. 3 -methyl butane

https://dl.doubtnut.com/l/_FBU2NgKFGbUj
https://dl.doubtnut.com/l/_e1HQVmhNIRbu


Answer:

Watch Video Solution

359. What are the characteristics of homologous series ?

A. have one general formula

B. Have similar functional group

C. Similar chemical properties

D. All the above

Answer:

Watch Video Solution

360. Which of the following is not a amorphous form of carbon ?

https://dl.doubtnut.com/l/_e1HQVmhNIRbu
https://dl.doubtnut.com/l/_B4rvHRrvXQg2
https://dl.doubtnut.com/l/_XJnnUjeo8VxB


A. Coal

B. Coke

C. 

D. Gas carbon

Answer:

Watch Video Solution

C60

361. In which one of the following halides,  bond is

present? 

A. 

B. 

C. 

D. 

Csp2 − X

C2H2

C2H4

C2H6

C2H8

https://dl.doubtnut.com/l/_XJnnUjeo8VxB
https://dl.doubtnut.com/l/_tjwB5RbayEED


Answer:

Watch Video Solution

362. Which of the following is ester?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3COOH

CH3OC2H5

CH3COOC2H5

CH3CH2OH

https://dl.doubtnut.com/l/_tjwB5RbayEED
https://dl.doubtnut.com/l/_wy9WmEh5xzCi


363. Wohler Friedrich is appreciable because, he prepared______in

lab

A. . Nanotubes

B. . Organic urea

C. . Buckyballs

D. . Ester

Answer:

Watch Video Solution

1

2

3

4

364. Graphite is appreciable because it used to making of

A. Organic urea

B. Nanotubes

https://dl.doubtnut.com/l/_SZWVmn9enfcN
https://dl.doubtnut.com/l/_OixsesNepDFG


C. Conductors

D. Papers

Answer:

Watch Video Solution

365. This reaction helps us in cooking

A. Combustion

B. Oxidation

C. Esterification

D. Soaponication

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OixsesNepDFG
https://dl.doubtnut.com/l/_8J1x1ZfDBkZ6


366. Drunken drive related to

A. Alcohol

B. Ester

C. Acid

D. Ketone

Answer:

Watch Video Solution

367. Esters are appreciable because they have

A. . Aromatic smell

B. . Gold colour

C. . Light weight

1

2

3

https://dl.doubtnut.com/l/_TBZwyjVtSeIO
https://dl.doubtnut.com/l/_SjGbP60PRJJ4


D. . Above all

Answer:

Watch Video Solution

4

368. Hydrocarbons are appreciable because they are used as

A. . Oxidizing agents

B. . Conductors

C. . Fuels

D. . Catalysts

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_SjGbP60PRJJ4
https://dl.doubtnut.com/l/_iKeX1BN0mrLC


369. Graphite is used as lubricant because of its

A. Both ‘A’ and “R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. A’ is true but ‘R Is false

D. A’ is false but ‘R’ is true

Answer:

Watch Video Solution

370. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

https://dl.doubtnut.com/l/_j9v4xYhm35AB
https://dl.doubtnut.com/l/_weywCWWZAuVM


A. Insuffictent fuel

B. Insufficient air

C. Insufficient ignition

D. Above all

Answer:

Watch Video Solution

371. Cooking gas contains

A. . 

B. . 

C. . 

D. . 

1 C4H10

2 CH4

3 C2H5OH

4 C2H2

https://dl.doubtnut.com/l/_weywCWWZAuVM
https://dl.doubtnut.com/l/_d4PcLBoRQBAY


Answer:

Watch Video Solution

372. Micelles are found in

A. . Tea

B. . Soap water

C. . Alcohol

D. . Vinegar

Answer:

Watch Video Solution

1

2

3

4

373. Vinegar __________

https://dl.doubtnut.com/l/_d4PcLBoRQBAY
https://dl.doubtnut.com/l/_gfHNR7iRcFzB
https://dl.doubtnut.com/l/_v7k9ZeyE5gm7


A. Ethanoic acid

B. Preservative

C. Sour in taste

D. Above all

Answer:

Watch Video Solution

374. Riped fruits contain

A. Butane

B. Alcohol

C. Ester

D. Above all

https://dl.doubtnut.com/l/_v7k9ZeyE5gm7
https://dl.doubtnut.com/l/_zp2TVosQXyQt


Answer:

Watch Video Solution

375. Alcoholic drinks contain

A. Ester

B. Soap

C. Ethanol

D. Venegar

Answer:

Watch Video Solution

376. Which of the following is better cooking ?

https://dl.doubtnut.com/l/_zp2TVosQXyQt
https://dl.doubtnut.com/l/_f3N0Rnf69KCs
https://dl.doubtnut.com/l/_PhjQt4sqmdEC


A. Vegetable oils

B. Animal fat oils

C. Hydrogenated oils

D. Vanaspathi

Answer:

Watch Video Solution

377. Scientists inserted bio molecules into______ to inject them into

a single cell

A. Graphite

B. Graphene

C. Nanotube

D. Bucky balls

https://dl.doubtnut.com/l/_PhjQt4sqmdEC
https://dl.doubtnut.com/l/_3VF7EGYLals8


Answer:

Watch Video Solution

378. Lead is

A. Graphite

B. Graphene

C. Nonotube

D. Bucky balls

Answer:

Watch Video Solution

379. Which of the following give aromatic smell ?

https://dl.doubtnut.com/l/_3VF7EGYLals8
https://dl.doubtnut.com/l/_Y1ZbeeH6hNWA
https://dl.doubtnut.com/l/_7aKZDqgzY5ME


A. Alcohol

B. Ester

C. Acid

D. Vinegar

Answer:

Watch Video Solution

380. What are the general molecular formulae of alkanes, alkenes

and alkynes?

Watch Video Solution

381. Name the product other than water formed on burning of

ethanol in air.

https://dl.doubtnut.com/l/_7aKZDqgzY5ME
https://dl.doubtnut.com/l/_w1JiaXyr3ZN8
https://dl.doubtnut.com/l/_sxSZOHpkKaFZ


Watch Video Solution

382. Name the simplest ketone and write it's molecular formula.

Watch Video Solution

383. Name the compound formed by heating ethanol at 443K with

excess of conc. .

Watch Video Solution

H2SO4

384. Name the product obtained when ethanol is oxidized by

either chromic anhydride Or alkaline potassium permanganate.

Watch Video Solution

https://dl.doubtnut.com/l/_sxSZOHpkKaFZ
https://dl.doubtnut.com/l/_MMqIEz2SWtMI
https://dl.doubtnut.com/l/_7zBN7ZC5X22w
https://dl.doubtnut.com/l/_3VaR5D4Cix3z
https://dl.doubtnut.com/l/_6zpbNujHK2uV


385. Write the homologus series of carbon compounds after

 and write the IUPAC name.

Watch Video Solution

CH3OHCH2CH3

386. Why does carbon form compounds mainly by covalent

bonding?

Watch Video Solution

387. Explain the sodium ethoxide is obtained from ethanol. Give

chemical equations.

Watch Video Solution

388. Explain the cleansing action of soaps.

https://dl.doubtnut.com/l/_6zpbNujHK2uV
https://dl.doubtnut.com/l/_HRYnL40l96hu
https://dl.doubtnut.com/l/_ezxscS6B9S3m
https://dl.doubtnut.com/l/_KG0qQKKnTBAi


Watch Video Solution

389. Distinguish between esterification and saponification

reactions of organic compounds.

Watch Video Solution

390. Distinguish between esterification and saponification

reactions of organic compounds.

Watch Video Solution

391. What happens when a small piece of sodium is dropped into

ethanol?

Watch Video Solution

https://dl.doubtnut.com/l/_KG0qQKKnTBAi
https://dl.doubtnut.com/l/_iGhTLTf3CyZP
https://dl.doubtnut.com/l/_egxzTpmBbbAG
https://dl.doubtnut.com/l/_48ROJlVy87oN
https://dl.doubtnut.com/l/_V3xJlhCuCEUT


392. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

393. Explain with the help of a chemical equation, how an addition

reaction is used in vegetable ghee industry.

Watch Video Solution

394. How is hydrogenation used in vegetable ghee industry?

Explain with chemical equation.

Watch Video Solution

395. Write the various possible structural formulae of a compound

having molecular formula ?C3H6O

https://dl.doubtnut.com/l/_V3xJlhCuCEUT
https://dl.doubtnut.com/l/_rmJykv82Cn9u
https://dl.doubtnut.com/l/_8lY9qCq17mjN
https://dl.doubtnut.com/l/_lhx4HU5T277O


Watch Video Solution

396. Allotropy is a property shown by which class of

substances:elements, compounds or mixtures? Explain allotropy

with suitable examples.

Watch Video Solution

397. Two carbon compounds A and B have molecular formulae

 and  respectively. Which one of the two is most likely

to undergo addition reactions? Justify your answer.

Watch Video Solution

C3H8 C3H6

398. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

https://dl.doubtnut.com/l/_lhx4HU5T277O
https://dl.doubtnut.com/l/_HFSkY0uBpRxF
https://dl.doubtnut.com/l/_cczEFJDg8wMK
https://dl.doubtnut.com/l/_AGpOyyHRUr27


is added to the mixture and warmed in a water bath for

5min.answer the question:What name is given to such a reaction?

Watch Video Solution

399. 1 ml glacial acetic acid and 1 ml of ethanol are mixed together

in a test tube. Few drops of concentrated sulphuric acid is added

to the mixture and warmed in a water bath for 5 min. Represent

the above change by a chemical equation.

Watch Video Solution

400. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

is added to the mixture and warmed in a water bath for

5min.answer the question:What name is given to such a reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_AGpOyyHRUr27
https://dl.doubtnut.com/l/_X92LrkCSddEK
https://dl.doubtnut.com/l/_zGS6Tku0Nzvr


401. 1 ml of glacial acetic acid and 1 ml of ethanol are mixed

together in a test tube. Few drops of concentrated sulphuric acid

is added to the mixture and warmed in a water bath for

5min.answer the question:What are the special characteristics of

the compound formed?

Watch Video Solution

402. Which of the following solution of acetic acid in water can be

used as preservative?

A. 5-10%

B. 10-15%

C. 15-20%

D. 1

https://dl.doubtnut.com/l/_zGS6Tku0Nzvr
https://dl.doubtnut.com/l/_V2CVOXdGgfjj
https://dl.doubtnut.com/l/_Km8eHghBA54W


Answer:

Watch Video Solution

403. The suffix used for naming an aldehyde is___

A. -ol

B. -al

C. -one

D. -ene

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Km8eHghBA54W
https://dl.doubtnut.com/l/_ih93NqRwyLqG


404. Acetic acid when dissolved in water it dissociates into ions

reversibly because it is a______

A. weak acid

B. strong acid

C. weak base

D. strong base

Answer:

Watch Video Solution

405. Which one of the following hydrocarbons can show

isomerism?

A. C2H4

https://dl.doubtnut.com/l/_KgrkvIF38F3E
https://dl.doubtnut.com/l/_bGpBribSJfyL


B. 

C. 

D. 

Answer:

Watch Video Solution

C2H6

C3H8

C4H10

406. Combustion of hydrocarbon is generally accompanied by the

evolution of_______

A. Heat

B. Light

C. Both heat and light

D. Electric current

Answer:

https://dl.doubtnut.com/l/_bGpBribSJfyL
https://dl.doubtnut.com/l/_R5tdk9F6qCGA


Watch Video Solution

407. 2ml of ethanoic acid was taken in each of the three test tubes

A, B and C and 2ml, 4ml and 8ml of water was added to them

respectively. A clear solution is obtained in_____

A. Test tube A only

B. Test tubes A & B only

C. Test tubes B and C only

D. All the test tubes

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_R5tdk9F6qCGA
https://dl.doubtnut.com/l/_zpzrJyt9YGur


408. If 2ml of acetic acid was added slowly in drops to 5ml of water

then we will notice

A. The acid forms a separate layer on the top of water

B. Water forms a separate layer on the top of the acid

C. Formation of a clear and homogenous solution

D. Formation of a pink and clear solution

Answer:

Watch Video Solution

409. A few drops of ethanoic acid were added to solid sodium

carbonate. The possible results of the reactions are

A. A hissing sound was evolved

https://dl.doubtnut.com/l/_0yGkd2bflxKu
https://dl.doubtnut.com/l/_YjkqExAPighn


B. Brown fumes evolved

C. Brisk effervescence occurred

D. A pungent smelling gas evolved

Answer:

Watch Video Solution

410. When acetic acid reacts with ethyl alcohol, we add conc.

, which acts as_________ and the process is called______

A. Oxidizing agent, saponification

B. Dehydrating agent, esterification

C. Reducing agent, esterification

D. Acid & esterification

Answer:

H2SO4

https://dl.doubtnut.com/l/_YjkqExAPighn
https://dl.doubtnut.com/l/_tyDDyDMNWQL5


Watch Video Solution

411. Suggest a test to find the hardness of water and explain the

procedure.

Watch Video Solution

412. Suggest a chemical test to distinguish between ethanol and

ethanoic acid and explain procedure.

Watch Video Solution

413. Suggest a chemical test to distinguish between ethanol and

ethanoic acid and explain procedure.

Watch Video Solution

https://dl.doubtnut.com/l/_tyDDyDMNWQL5
https://dl.doubtnut.com/l/_2UkChMRNvbjO
https://dl.doubtnut.com/l/_uX4Hm2nYYzbe
https://dl.doubtnut.com/l/_4rWRDdkXqG0b


414. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

compound 'Y', that has molecular formula .Identify "X" and

"Y".

Watch Video Solution

C2H6O

KMnO4

C2H4O2

415. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

compound 'Y', that has molecular formula : Write your

observation regarding the product when compound 'X' is made to

react with compound "Y" Which is used as a preservative for

pickles.

Watch Video Solution

C2H6O

KMnO4

C2H4O2

https://dl.doubtnut.com/l/_zeWAURdTfmy1
https://dl.doubtnut.com/l/_2fxV83TSWqQx


416. Prepare models of methane, ethane, ethene and ethyne

molecules using clay balls and matchsticks.

Watch Video Solution

417. Collect information on the process of artificial ripening of

fruits in fruit markets and discuss whether it is useful or harmful.

Watch Video Solution

418. How do you condemn the use of alcohol as a social practice?

Watch Video Solution

419. Write an activity to show esterification.

W t h Vid S l ti

https://dl.doubtnut.com/l/_ROMG5XLE1orL
https://dl.doubtnut.com/l/_dzIqHkHhd58n
https://dl.doubtnut.com/l/_tDeYnFH6qbxp
https://dl.doubtnut.com/l/_7IsL38HSWUIe


Watch Video Solution

420. Write an activity to show soap solution separates oil from

water.

Watch Video Solution

421. What are bond angles of  in ,  and 

molecules?

Watch Video Solution

HCH CH4 C2H4 C2H2

422. Why we are advised not to use animal fats for cooking?

Watch Video Solution

https://dl.doubtnut.com/l/_7IsL38HSWUIe
https://dl.doubtnut.com/l/_pA0iMBhroccn
https://dl.doubtnut.com/l/_WIq9xG0Y64AA
https://dl.doubtnut.com/l/_8xhPwGc0m3zQ


423. Which oil is recommended for cooking? Why?

Watch Video Solution

424. How do carbon atoms form bonds in so many ways

Watch Video Solution

425. Where this energy to excited electron comes from?

Watch Video Solution

426. In methane( ) molecule all four carbon-hydrogen bonds

are identical and bond angle  is 109.28.how can we explain

this?

W t h Vid S l ti

CH4

HĈH

https://dl.doubtnut.com/l/_0KmKYbpg7H40
https://dl.doubtnut.com/l/_r8JMheaP1Ovy
https://dl.doubtnut.com/l/_wNq5ujmVj06Q
https://dl.doubtnut.com/l/_gJ5BZN1hyJ3d


Watch Video Solution

427. How to explain the four orbitals of carbon containing

unpaired electrons as energetically equal?

Watch Video Solution

428. How do you explain the ability of C- atom to form two single

covalent bonds and one double bond?

Watch Video Solution

429. How do you explain the ability of carbon atom to form one

single bond and one triple bond?

Watch Video Solution

https://dl.doubtnut.com/l/_gJ5BZN1hyJ3d
https://dl.doubtnut.com/l/_DuniPrSc8MPB
https://dl.doubtnut.com/l/_7z0FbEgYoAjr
https://dl.doubtnut.com/l/_kVazECmbXNiD
https://dl.doubtnut.com/l/_1MEUYush6n8S


430. How do you understand the marking(writings) of a pencil on a

paper?

Watch Video Solution

431. What are hydrocarbons?

Watch Video Solution

432. Do all the organic compounds have equal number of 'C' and

'H' atoms?

Watch Video Solution

433. Can carbon form bonds with the atoms of other elements?

Watch Video Solution

https://dl.doubtnut.com/l/_1MEUYush6n8S
https://dl.doubtnut.com/l/_zysE0kWxBMfP
https://dl.doubtnut.com/l/_XW79jU0fkbj4
https://dl.doubtnut.com/l/_AIwAHvEHVQ9O


434. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

435. Do you know what is a catalyst ?

Watch Video Solution

436. What is a true solution?

Watch Video Solution

https://dl.doubtnut.com/l/_AIwAHvEHVQ9O
https://dl.doubtnut.com/l/_aaIB0llZyyg5
https://dl.doubtnut.com/l/_QrH2BIAD6lx8
https://dl.doubtnut.com/l/_wQJUWIJOCPtb


437. Can carbon get helium configuration by losing four electrons

from the outer shell?

Watch Video Solution

438. Explain the four unpaired electrons in carbon atom through

excited state.

Watch Video Solution

439. Allotting completely one special branch in chemistry to

compounds of only one element. Is it justified when there are so

many elements and their compounds but not with any special

branches?

Watch Video Solution

https://dl.doubtnut.com/l/_vIHhfEx30oLC
https://dl.doubtnut.com/l/_vYPwS3ANNxvS
https://dl.doubtnut.com/l/_YBtofBSxRoKZ


440. What are esters?

Watch Video Solution

441. How these energetically unequal valence electrons form four

equivalent covalent bonds in methane molecule?

Watch Video Solution

442. Can we write the structure of a compound if the name of the

compound is given ?

Watch Video Solution

443. Do you know how the police detect whether suspected drivers

have consumed alcohol or not?

https://dl.doubtnut.com/l/_RIbfnieBCOqF
https://dl.doubtnut.com/l/_nVMRvgW4BXf5
https://dl.doubtnut.com/l/_l2qxpxb7IaSF
https://dl.doubtnut.com/l/_EdNxb6FF0Cvs


Watch Video Solution

444. What is the action of soap particles on the greasy cloth?

Watch Video Solution

445. How do you appreciate the role of oxygen in combustion

process?

Watch Video Solution

446.  is an addition reaction. 


 Predict and write the products.

Watch Video Solution

CH2 = CH2 + H2Ni
−→

CH3 − CH3

CH ≡ CH + H2Ni
−→

?

https://dl.doubtnut.com/l/_EdNxb6FF0Cvs
https://dl.doubtnut.com/l/_Y28Bj3D9yX7B
https://dl.doubtnut.com/l/_etTgkgZ6cUUE
https://dl.doubtnut.com/l/_pzEBobXha02L
https://dl.doubtnut.com/l/_eAVsWUVNfYKv


447. Why dough rises swells, when it is treated with yeast ?

Watch Video Solution

448. Write two uses of nano tubes.

Watch Video Solution

449. Write two uses of ethanol in day to day life.

Watch Video Solution

450. Write the atomic structure of the following carbon

compounds. 3,7 -dibromo -4, 6 dichloro -oct5 - ene - 1,2 - diol

Watch Video Solution

https://dl.doubtnut.com/l/_eAVsWUVNfYKv
https://dl.doubtnut.com/l/_SZp6Pa4L9DWH
https://dl.doubtnut.com/l/_BlQzHiFL17C3
https://dl.doubtnut.com/l/_F4BKfTDxSh31
https://dl.doubtnut.com/l/_e4E1WODv28Y9


451. Why do the various micelles present in water do not come

together to form a precipitate ? Guess the reason.

Watch Video Solution

452. Mention any two uses of graphite in day to day life.

Watch Video Solution

453. Why are vegetable oils healthy us compared to vegetable

ghee ?

Watch Video Solution

454. Draw the structure of the methane molecule. Write its bond

angle.

https://dl.doubtnut.com/l/_e4E1WODv28Y9
https://dl.doubtnut.com/l/_FhDu1ORX5Hr2
https://dl.doubtnut.com/l/_09R0MwMPp38q
https://dl.doubtnut.com/l/_qZyci36fmGaV


Watch Video Solution

455. What are alkenes ?

Watch Video Solution

456. Write the general formula of alkenes. Give an example for

alkenes.

Watch Video Solution

457. What is allotropy? Name the crystalline allotropes of Carbon.

What are their uses? 

Watch Video Solution

https://dl.doubtnut.com/l/_qZyci36fmGaV
https://dl.doubtnut.com/l/_3HiIhcbaGvtq
https://dl.doubtnut.com/l/_IqmP7z3dGVmv
https://dl.doubtnut.com/l/_mR89zxAqifpf
https://dl.doubtnut.com/l/_MwgPXgnRIXRq


458. What are the characteristics of homologous series ?

Watch Video Solution

459. Why alkanes are known as paraffins ?

Watch Video Solution

460. List out the materials required to conduct the experiment to

understand the esterification reaction. Explain the procedure of

the experiment. How can you identify that an ester is formed in

this reaction?

Watch Video Solution

461. Explain the isomerism and catenation properties of carbon.

https://dl.doubtnut.com/l/_MwgPXgnRIXRq
https://dl.doubtnut.com/l/_6UDm8901xnph
https://dl.doubtnut.com/l/_GQAs13pnvkdl
https://dl.doubtnut.com/l/_GoyynSPhHW9z


Watch Video Solution

462. What is the position of carbon in periodic table ?

Watch Video Solution

463. What is hybridisation?

Watch Video Solution

464. Draw the diagram showing  hybridization in ethene.

Watch Video Solution

sp2

465. What are the shapes of ethyne and methane?

Watch Video Solution

https://dl.doubtnut.com/l/_GoyynSPhHW9z
https://dl.doubtnut.com/l/_52jCY9n1hCMp
https://dl.doubtnut.com/l/_jmi8qlhJeoEq
https://dl.doubtnut.com/l/_TUUCkTSWgoHm
https://dl.doubtnut.com/l/_TP9NuVcy8CYw


Watch Video Solution

466. What is allotropy ? Give the crystalline allotropes of cabon.

Watch Video Solution

467. Amorphous allotrope of carbon is

Watch Video Solution

468. Name the crystalline allotropes of carbon and mention any

hybridization involved in them 

Watch Video Solution

https://dl.doubtnut.com/l/_TP9NuVcy8CYw
https://dl.doubtnut.com/l/_5WjRC3Mr3JIO
https://dl.doubtnut.com/l/_KfmvcSHbDmSZ
https://dl.doubtnut.com/l/_btwQqR5N8ExV


469. How do you explain the ability of carbon atom to form one

single bond and one triple bond?

Watch Video Solution

470. Why carbon is versatile element in nature?

Watch Video Solution

471. What are hydrocarbons?

Watch Video Solution

472. Give one example for straight chain compound.

Watch Video Solution

https://dl.doubtnut.com/l/_ZUDFuHhG2URl
https://dl.doubtnut.com/l/_NYfCLL1yXWDB
https://dl.doubtnut.com/l/_GWHNKK5RbbAq
https://dl.doubtnut.com/l/_AyMILEflVFMH


473. Give an example for branched chain compound.

Watch Video Solution

474. What are alkanes

Watch Video Solution

475. Write the general formula of alkenes. Give an example for

alkenes.

Watch Video Solution

476. Discuss the structure of carbon - carbon triple bond in

alkynes.

https://dl.doubtnut.com/l/_AyMILEflVFMH
https://dl.doubtnut.com/l/_lQRSAHDaocbb
https://dl.doubtnut.com/l/_8NPj93uirfYd
https://dl.doubtnut.com/l/_BADbIkUWxSTW
https://dl.doubtnut.com/l/_Ajh41YIPbPlE


Watch Video Solution

477. The formula of a hydrocarbon is  Name the family to

which it belongs and also predicts its nature.

Watch Video Solution

C12H24

478. What is a functional group? Give three examples of functional

groups.

Watch Video Solution

479. What do you mean by a functional group?

Watch Video Solution

https://dl.doubtnut.com/l/_Ajh41YIPbPlE
https://dl.doubtnut.com/l/_sKAwblof2qpj
https://dl.doubtnut.com/l/_bvpNCDkwSQ2n
https://dl.doubtnut.com/l/_PuFWAUkox59z
https://dl.doubtnut.com/l/_gwZ3HqNgfyMN


480. Define Isomerism.

Watch Video Solution

481. What is the difference between two successive homologs?

Watch Video Solution

482. Write the structure of 3-bromo-2-chloro-5 oxo hexanoic acid.

Watch Video Solution

483. What is saponification?

Watch Video Solution

https://dl.doubtnut.com/l/_gwZ3HqNgfyMN
https://dl.doubtnut.com/l/_bLslYVk1QXdu
https://dl.doubtnut.com/l/_HUy4y3tlhuRS
https://dl.doubtnut.com/l/_GHC3LWows3gw


484. What is a micelle? Give an example of micelle formation.

Watch Video Solution

485. Do you know what 'soap' is?

Watch Video Solution

486. Graphite is a good conductor - explain.

Watch Video Solution

487. What are the uses of fullerenes?

Watch Video Solution

https://dl.doubtnut.com/l/_Ynl4zsiVJ3Yy
https://dl.doubtnut.com/l/_ZHXIMQYok8An
https://dl.doubtnut.com/l/_Wioftn2uVttJ
https://dl.doubtnut.com/l/_oFAQsbYKn4qF
https://dl.doubtnut.com/l/_uHM6KJp9luTl


488. What are oxidising agents?

Watch Video Solution

489. Why alkanes are known as paraffins ?

Watch Video Solution

490. What is the use of ethanol in motors?

Watch Video Solution

491. What is collodion solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_uHM6KJp9luTl
https://dl.doubtnut.com/l/_WrgiJX0RSn5P
https://dl.doubtnut.com/l/_9W8NOJ7yQvfR
https://dl.doubtnut.com/l/_2r5Wd5VJaAN5


492. Other than carbon which elements show catenation?

Watch Video Solution

493. What are hydrocarbons?

Watch Video Solution

494. Expand IUPAC.

Watch Video Solution

495. How do you appreciate the role of diamond in surgery ?

Watch Video Solution

https://dl.doubtnut.com/l/_5iTSN4enYPrS
https://dl.doubtnut.com/l/_uWk9ziNiG5Fb
https://dl.doubtnut.com/l/_5KVBYE54s0sH
https://dl.doubtnut.com/l/_sf0awn2x4IlG
https://dl.doubtnut.com/l/_vVQYN9NGlkk4


496. How do you appreciate the role of diamond in surgery ?

Watch Video Solution

497. What is the reason behind blue and yellow coloured flames in

combustion process?

Watch Video Solution

498. How do you appreciate the role of ethanol as a fuel?

Watch Video Solution

499. How do you appreciate the role of acetic acid as a

preservative?

Watch Video Solution

https://dl.doubtnut.com/l/_vVQYN9NGlkk4
https://dl.doubtnut.com/l/_plcsEYzA4eGY
https://dl.doubtnut.com/l/_0kIZIHnvtB29
https://dl.doubtnut.com/l/_AfiRzS5ADt4v


500. How do you detect the leakage of gas?

Watch Video Solution

501. How LPG gas is useful for environment?

Watch Video Solution

502. How ethanol useful in pharmaceutical industry ?

Watch Video Solution

503. How synthetic detergents are harmful for environment?

Watch Video Solution

https://dl.doubtnut.com/l/_AfiRzS5ADt4v
https://dl.doubtnut.com/l/_DARu2027ZP8e
https://dl.doubtnut.com/l/_7IcxgpBlbI8i
https://dl.doubtnut.com/l/_1TmP10DMHdkT
https://dl.doubtnut.com/l/_PKZb0xDGTkYA


504. How do you prepare Ethanol from ethene?

Watch Video Solution

505. Write the reactions of ethanol with sodium and conc.

Watch Video Solution

H2SO4 −

506. Write the reactions of ethanoic acid with metals, metal

hydroxide, metal carbonates and metal hydrogen carbonates.

Watch Video Solution

507. The purest form of carbon is

https://dl.doubtnut.com/l/_PKZb0xDGTkYA
https://dl.doubtnut.com/l/_abPvdXCWPmYP
https://dl.doubtnut.com/l/_ytjFvlWOEPD1
https://dl.doubtnut.com/l/_OXyoRCfxFS9S
https://dl.doubtnut.com/l/_fIWjHPQxJOqy


Watch Video Solution

508. Draw the structure of the following compounds. 2-Methyl

penten-3-ol

Watch Video Solution

509. Draw the structure of: 2-Bromo-3-ethayl penta-1,4-diene

Watch Video Solution

510. Draw the structure of:3-amino-2-bromo hexan-1-Ol

Watch Video Solution

https://dl.doubtnut.com/l/_fIWjHPQxJOqy
https://dl.doubtnut.com/l/_DRQkzfcA6ndS
https://dl.doubtnut.com/l/_SnLS8tSQJd0J
https://dl.doubtnut.com/l/_RAH5ykBo9TgP


511. Draw the structure of: 3,4-dichloro but-1-ene

Watch Video Solution

512. Draw various structure of 

Watch Video Solution

C5H12

513. Draw various structure of : .

Watch Video Solution

C6H14

514. What are nanotubes?

Watch Video Solution

https://dl.doubtnut.com/l/_4pgldFuMOpDu
https://dl.doubtnut.com/l/_GypldZZXZses
https://dl.doubtnut.com/l/_dO0Xc35prqrb
https://dl.doubtnut.com/l/_IzHoDyjQow0L
https://dl.doubtnut.com/l/_yXmz2XXld5sA


515. What is an homologous series? Explain with an example.

Watch Video Solution

516. Write the molecular formula of the fourth member of the

homologous series of alcohols.

Watch Video Solution

517. Do you know what is a catalyst ?

Watch Video Solution

518. Why oils are in liquids at room temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_yXmz2XXld5sA
https://dl.doubtnut.com/l/_v2DfcNao1jio
https://dl.doubtnut.com/l/_qmchit4Wcdee
https://dl.doubtnut.com/l/_gISDlxIoYBIJ


519. Why fats are solids at room temperature ?

Watch Video Solution

520. Do you know how the police detect whether suspected drivers

have consumed alcohol or not?

Watch Video Solution

521. Name the gas evolved when acetic acid is react with sodium

hydrogen carbonate.

Watch Video Solution

522. Name the organic acid present in vinegar-write it's chemical

formula.

https://dl.doubtnut.com/l/_3JyqpahTRaLJ
https://dl.doubtnut.com/l/_4HpZ0KhyU1gG
https://dl.doubtnut.com/l/_HcAMSNcZFMoH
https://dl.doubtnut.com/l/_WxtzLPo2pspA


Watch Video Solution

523. What change will you observe if you test soap with litmus

paper (red and blue)?

Watch Video Solution

524. Out of butter and ground nut oil which is unsaturated in

nature?

Watch Video Solution

525. What are hydrophobic and hydrophillic parts in soap?

Watch Video Solution

https://dl.doubtnut.com/l/_WxtzLPo2pspA
https://dl.doubtnut.com/l/_l4WxDYeVz1FQ
https://dl.doubtnut.com/l/_GPp6gG0HrBAK
https://dl.doubtnut.com/l/_EYjxQ4VBJUft
https://dl.doubtnut.com/l/_QgIEwCQb6Weu


526. Name the carboxylic acid used as preservation.

Watch Video Solution

527. Draw the structure of butanoic acid .

Watch Video Solution

C3H7COOH

528. How do you appreciate the role of esters in daily life ?

Watch Video Solution

529. Draw the diagram showing  hybridization in ethene.

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_QgIEwCQb6Weu
https://dl.doubtnut.com/l/_oxTqUP1qjl7X
https://dl.doubtnut.com/l/_Iaq7oX2SHPUg
https://dl.doubtnut.com/l/_xaOLlheM8fZQ


530. Draw the diagram showing sp hybridization in ethyne.

Watch Video Solution

531. What type of reaction is involved in the conversion of

ammonium cyanate to urea.

Watch Video Solution

532. Give an example for ring or cyclic compound.

Watch Video Solution

533. Which of the following compounds are unsaturated ? Justify

your answer. 

W t h Vid S l ti

CH3 − CH ≡ CH2

https://dl.doubtnut.com/l/_AWpNzCAp3kXK
https://dl.doubtnut.com/l/_q52khdjtokuJ
https://dl.doubtnut.com/l/_4vQQlVuQObTP
https://dl.doubtnut.com/l/_37ZWUx168B88


Watch Video Solution

534. Which of the following compounds are unsaturated ? Justify

your answer. 

Watch Video Solution

CH3 − CH ≡ CH2

535. Which of the following compounds are unsaturated ? Justify

your answer. 

Watch Video Solution

HC ≡ C − CH = CH2

536. What are hydrophobic and hydrophillic parts in soap?

Watch Video Solution

https://dl.doubtnut.com/l/_37ZWUx168B88
https://dl.doubtnut.com/l/_jZQ2vs8MYokX
https://dl.doubtnut.com/l/_Yx9MerMQOgrV
https://dl.doubtnut.com/l/_2GcJQoJ9lUUv


537. Give the decreasing order of priority for choosing and naming

a principal characteristic group.

Watch Video Solution

538. How do you appreciate the role of carbon in everyday life ?

Watch Video Solution

539. In IUPAC nomenchlature, the order followed for naming the

compounds is:

Watch Video Solution

540. Write the physical properties of Ethanol.

h id l i

https://dl.doubtnut.com/l/_nJxgz9ad3mRe
https://dl.doubtnut.com/l/_HI7eQFthztlO
https://dl.doubtnut.com/l/_qEnGwNP021pE
https://dl.doubtnut.com/l/_BUmG2oC58Qbw


Watch Video Solution

541. Explain the occurrence of carbon.

Watch Video Solution

542. Explain about allotropic forms of carbon.

Watch Video Solution

543. Explain the classification of hydrocarbons.

Watch Video Solution

544. Explain addition reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_BUmG2oC58Qbw
https://dl.doubtnut.com/l/_kKKG1Wit7yKL
https://dl.doubtnut.com/l/_Ptsv0o8FvDIf
https://dl.doubtnut.com/l/_WkkhoVpdgriS
https://dl.doubtnut.com/l/_VHwBNfl6sjt4


545. What are ethers ? Give examples.

Watch Video Solution

546. Why carbon does not form  ?

Watch Video Solution

C 4+

547. Why does carbon form compounds mainly by covalent

bonding?

Watch Video Solution

https://dl.doubtnut.com/l/_VHwBNfl6sjt4
https://dl.doubtnut.com/l/_ln6DldSTwtPm
https://dl.doubtnut.com/l/_HlOmxmLONH74
https://dl.doubtnut.com/l/_bhKQB44QTasF


548. Allotropy is a property shown by which class of

substances:elements, compounds or mixtures? Explain allotropy

with suitable examples.

Watch Video Solution

549. Why is diamond hard ?

Watch Video Solution

550. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH2 − CH2

https://dl.doubtnut.com/l/_dDQqMQzdo3iw
https://dl.doubtnut.com/l/_aUWZqcNTK2RR
https://dl.doubtnut.com/l/_wL2uDEJQovy5


551. Identify the unsaturated compounds of the following :

Watch Video Solution

CH3 − CH = CH2

552. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

Watch Video Solution

553. Define Isomerism.

Watch Video Solution

554. Draw the structure of isomers of butane.

W t h Vid S l ti

https://dl.doubtnut.com/l/_9cmCIF7e9CMY
https://dl.doubtnut.com/l/_jlvt4yJtJgAt
https://dl.doubtnut.com/l/_e0FVAiYmJvE0
https://dl.doubtnut.com/l/_U6IT9CrYRQL1


Watch Video Solution

555. What happens when a small piece of sodium is dropped into

ethanol?

Watch Video Solution

556. What type of reaction takes place between ethane and

chlorine?

Watch Video Solution

557. What are the two properties of carbon which lead to the huge

number of carbon compounds we see around us?

Watch Video Solution

https://dl.doubtnut.com/l/_U6IT9CrYRQL1
https://dl.doubtnut.com/l/_sBeKwr0NBFz4
https://dl.doubtnut.com/l/_AT6DdGwtPtuC
https://dl.doubtnut.com/l/_YaymXp3qvJTI
https://dl.doubtnut.com/l/_qc6nNOM7IIiM


558. Draw the structure for the following compounds : Propanoic

acid

Watch Video Solution

559. Draw the structure for the following compounds :

Chlorobutane

Watch Video Solution

560. Draw the structure for the following compounds : Hexanone

Watch Video Solution

561. Draw the structure for the following compounds : Pentanal

Watch Video Solution

https://dl.doubtnut.com/l/_qc6nNOM7IIiM
https://dl.doubtnut.com/l/_nVyr9Hqcatxy
https://dl.doubtnut.com/l/_tD92pRSxSRUp
https://dl.doubtnut.com/l/_WIvTX5uxGig0


562. How could you name the following compounds ?

Watch Video Solution

CH3 − CH2 − CH2 − Br

563. How could you name the following compounds ?

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − C ≡ CH

564. An organic compound X with a molecular formula 

undergoes oxidation with in presence of alkaline  to form

a compound Y. X on heating in presence of con.  at 443 k

gives Z. Which on reaction with  and decolorizes, it. Identify X,

Y and Z write the reactions involved.

C2H6O

KMnO4

H2SO4

Br2

https://dl.doubtnut.com/l/_WIvTX5uxGig0
https://dl.doubtnut.com/l/_8YQrbjUTl3oa
https://dl.doubtnut.com/l/_TWOSRjYyDFvD
https://dl.doubtnut.com/l/_fjesiwZSlBUr


Watch Video Solution

565. A mixture of oxygen and ethyne is burnt for welding. Can you

tell why a mixture of ethyne and air is not used ?

Watch Video Solution

566. How do you prepare Ethanol from ethene?

Watch Video Solution

567. Write the names of the organic compounds which have the

following structure : 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_fjesiwZSlBUr
https://dl.doubtnut.com/l/_s9nf8lzBHsyF
https://dl.doubtnut.com/l/_4pcIXvq3I7MQ
https://dl.doubtnut.com/l/_gKCZq44cFRMm
https://dl.doubtnut.com/l/_A8UsMwoyqbun


568. Draw the structure of isomers of butane.

Watch Video Solution

569. Draw the structure of: Ethanoic acid

Watch Video Solution

570. Draw the structures of the following : 2-Chloro Propene.

Watch Video Solution

571. Draw the structure of: propene

Watch Video Solution

https://dl.doubtnut.com/l/_A8UsMwoyqbun
https://dl.doubtnut.com/l/_MJxdm3G3bV3R
https://dl.doubtnut.com/l/_Gwe5DZvYyRnY
https://dl.doubtnut.com/l/_IW92pptI4YaF


572. Draw the structures of the following : 2-Chloro Propene.

Watch Video Solution

573. Draw the structure of ethane and electron dot structure of

chlorine.

Watch Video Solution

574. Draw the structure for the following compounds : Hexanone

Watch Video Solution

575. Draw the structure of:2-methyl propane

Watch Video Solution

https://dl.doubtnut.com/l/_rvTkyUJOL8ux
https://dl.doubtnut.com/l/_lUvqu3vLeNCu
https://dl.doubtnut.com/l/_pr2LfXKpHQlL
https://dl.doubtnut.com/l/_4tT4toGfH4tM


576. Explain the possibility of bonds formation by a carbon atom

with examples.

Watch Video Solution

577. Explain  hybridization with an example.

Watch Video Solution

sp2

578. Explain sp hybridization.

Watch Video Solution

579. How do you explain the ability of carbon atom to form one

single bond and one triple bond?

https://dl.doubtnut.com/l/_4tT4toGfH4tM
https://dl.doubtnut.com/l/_706bA5Xx9MHv
https://dl.doubtnut.com/l/_jy5Gk1J4td2y
https://dl.doubtnut.com/l/_m084Mea2SGbm
https://dl.doubtnut.com/l/_zJPeyJQTCRcP


Watch Video Solution

580. Explain the structures of Diamond.

Watch Video Solution

581. Write about the structures of buckminsterfullerene.

Watch Video Solution

582. Describe any two special types of Inflorescences.

Watch Video Solution

https://dl.doubtnut.com/l/_zJPeyJQTCRcP
https://dl.doubtnut.com/l/_8rw9E6HvQIuC
https://dl.doubtnut.com/l/_JMkahlZDYiVO
https://dl.doubtnut.com/l/_PlzaVKOT7rRg


583. What is the information given by the IUPAC name of an

organic compound ?

Watch Video Solution

584. Define substitution reaction and give an example.

Watch Video Solution

585. What is amine group ?

Watch Video Solution

586. Explain various types in amines.

Watch Video Solution

https://dl.doubtnut.com/l/_epvSZYi9KC2O
https://dl.doubtnut.com/l/_XiAFiqCXQg1V
https://dl.doubtnut.com/l/_a1lpRgAmqI2O
https://dl.doubtnut.com/l/_YK0obcVOo67y


587. Give next Homologs of the following compounds and also give

structure, formula and name : HCHO.

Watch Video Solution

588. Give next Homologs of the following compounds and also

give structure, formula and name : 

Watch Video Solution

CH3OH

589. What are the characteristics of homologous series ?

Watch Video Solution

https://dl.doubtnut.com/l/_YK0obcVOo67y
https://dl.doubtnut.com/l/_PChiJ50f5NS4
https://dl.doubtnut.com/l/_aJkPuRrDtdBc
https://dl.doubtnut.com/l/_r7OzxEwTP7eq


590. Write the IUPAC name of:

,

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH2 − CH2 − CH2 − CH2CH2OH

591. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH = CH − CH2 − C ≡ CH

592. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CHO

https://dl.doubtnut.com/l/_TXIPcInBt87e
https://dl.doubtnut.com/l/_Y1Ev2ESa7Vgh
https://dl.doubtnut.com/l/_SNyeurErSkGZ


593. Write the IUPAC names of the following compounds:

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CHO

594. Draw the electronic dot structure of ethane molecule( ).

Watch Video Solution

C2H6

595. Explain the structure of graphite in terms of bonding and give

one property based on this structure.

Watch Video Solution

596. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

C2H4O2

https://dl.doubtnut.com/l/_VV7a1YhxvxoH
https://dl.doubtnut.com/l/_Mzq0ry2h3lA3
https://dl.doubtnut.com/l/_kGM2AgGjGPsG
https://dl.doubtnut.com/l/_zvnEAWDCIC6W


bicarbonate. Answer the following : Identify the organic

compound.

Watch Video Solution

597. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : Write the chemical equation

for the above reaction.

Watch Video Solution

C2H4O2

598. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : Name the gas evolved.

Watch Video Solution

C2H4O2

https://dl.doubtnut.com/l/_zvnEAWDCIC6W
https://dl.doubtnut.com/l/_ErhcTcxnw7LO
https://dl.doubtnut.com/l/_hhCepSDeUqdF


599. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : How will you test the gas

evolved?

Watch Video Solution

C2H4O2

600. An organic compound with molecular formula 

produces brisk effervescence on addition of sodium carbonate /

bicarbonate. Answer the following : List two important uses of the

above compound.

Watch Video Solution

C2H4O2

601. Vinegar is a solution of

https://dl.doubtnut.com/l/_vMEEYkqNd1m8
https://dl.doubtnut.com/l/_T8JsIOihUgyD
https://dl.doubtnut.com/l/_lmP6J2u4E9p4


A. 50 - 60 % acetic acid in alcohol

B. 5 - 8% acetic acid in alcohol

C. 5- 8% acetic acid in water

D. 50 - 60% acetic acid in water

Answer:

Watch Video Solution

602. Pentane has the molecular formula  . It has

A. 5 covalent bonds

B. 12 covalent bonds

C. 16 covalent bonds

D. 17 covalent bonds

C5H12

https://dl.doubtnut.com/l/_lmP6J2u4E9p4
https://dl.doubtnut.com/l/_JDoNdYuaEgV7


Answer:

Watch Video Solution

603. Which among the following are unsaturated hydrocarbons? 

a)  


b) 

Watch Video Solution

H3C − CH2 − CH2 − CH3

H3C − C ≡ C − CH3

604. The heteroatoms present in

 are a) Oxygen,b) Carbon,c)

Hydrogen,d)Chlorine

A. a and b

B. b and c

CH3CH2 − O − CH2 − CH2CI

https://dl.doubtnut.com/l/_JDoNdYuaEgV7
https://dl.doubtnut.com/l/_tNx8URbxbkkP
https://dl.doubtnut.com/l/_OLI4AsLZNvpl


C. c and d

D. a and d

Answer:

Watch Video Solution

605. A molecule of ammonia  has

A. only single bonds

B. only double bonds

C. only triple bonds

D. two double bonds and one single bond

Answer:

Watch Video Solution

(NH3)

https://dl.doubtnut.com/l/_OLI4AsLZNvpl
https://dl.doubtnut.com/l/_0qjbdsbnZscC


606. Mineral acids are stronger acids than cardoxylic acids because

A. mineral acids are completely ionised

B. carboxylic acids are completely ionised

C. mineral acids are partially ionised

D. carboxylic acids are partially ionised

Answer:

Watch Video Solution

607. The reaction of an alcohol with carboxylic acid is called

A. Combustion

B. Esterification

C. Saponification

https://dl.doubtnut.com/l/_7mf43jZy57MI
https://dl.doubtnut.com/l/_c6oRi8tVfzGm


D. None of these

Answer:

Watch Video Solution

608. In the presence of concentrated sulphuric acid acetic acid

reacts with ethyl alcohol to produce

A. Aldehyde

B. Alcohol

C. Ester

D. Carboxylic acid

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_c6oRi8tVfzGm
https://dl.doubtnut.com/l/_8Y73dOVEmFUV


609. Which of the following has shortest carbon-carbon bond

length ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H2

C2H4

C2H6

C6H6

610. Which of the following are isomers ?

A. Butane and Isobutene

B. Ethane and Ethene

https://dl.doubtnut.com/l/_gbKLAIgiBjUX
https://dl.doubtnut.com/l/_cEbp3sogzyeT


C. Propane and Propyne

D. Butane and Isobutane

Answer:

Watch Video Solution

611. Which of the following statements are usually correct for

carbon compounds ? These 

a) are good conductors of electricity 

b) are poor conductors of electricity 

c) have strone forces of attraction between their molecules 

d) do not have strong forces of attraction between their

molecules .

A. a & c

B. b & c

https://dl.doubtnut.com/l/_cEbp3sogzyeT
https://dl.doubtnut.com/l/_wnVm4leAWX2Y


C. a & d

D. b & d

Answer:

Watch Video Solution

612. Which of the following compound(s) decolourises Bromine

water and also gives positive test with neutral  solution?

A. 1 and 2 only

B. 1,2 and 4 only

C. 2 and 4 only

D. 3 and 4 only

Answer:

Watch Video Solution

FeCl3

https://dl.doubtnut.com/l/_wnVm4leAWX2Y
https://dl.doubtnut.com/l/_ORg0LNUT6N2x


613. A spherical aggregate of soap molecules in water is called

A. Hydrophilic end

B. Hydropholic end

C. Miscelle

D. Cation

Answer:

Watch Video Solution

614. Bad conductor of electricity is

A. Graphite

B. Graphen

https://dl.doubtnut.com/l/_ORg0LNUT6N2x
https://dl.doubtnut.com/l/_X1kasfTReUJB
https://dl.doubtnut.com/l/_UBNlJbsoRZBt


C. Diamond

D. Nanotube

Answer:

Watch Video Solution

615.  hybridization is found in

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Sp3

CH4

C2H2

C2H4

C2H6

https://dl.doubtnut.com/l/_UBNlJbsoRZBt
https://dl.doubtnut.com/l/_UaWze99FtNH3


616. Which of the following is a good conductor of heat and

electricity?

A. Anthracite

B. Charcoal

C. Diamond

D. Graphite

Answer:

Watch Video Solution

617. The functional group of Ketones is ____

A. -OH

B. -CHO

https://dl.doubtnut.com/l/_Ka0FFwNCA7BE
https://dl.doubtnut.com/l/_KtetClLp8l1e


C. -O-

D. 

Answer:

Watch Video Solution

618. Chief component of cooking as is

A. Butane

B. Methane

C. Ethane

D. Octane

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KtetClLp8l1e
https://dl.doubtnut.com/l/_h3ZBuq60zh11


619. The functional group present in carboxylic acid is _________

A. -OH

B. -CHO

C. -COOH

D. -CO

Answer:

Watch Video Solution

620. The sodium salt of a long chain fatty acids is called______

A. An ester

B. A detergent

C. A soap

https://dl.doubtnut.com/l/_7qs5SJWxKUbW
https://dl.doubtnut.com/l/_j521yLmvpudi


D. A fat

Answer:

Watch Video Solution

621. A dilute solution of ethanoic acid in water is called

A. Tincture of iodine

B. Fehling’s solution

C. Vinegar

D. Tollen’s reagent

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_j521yLmvpudi
https://dl.doubtnut.com/l/_CmgJeeLRFywu


622. Ethanol on oxidation gives

A. Ethane

B. Formalin

C. Ethanoic acid

D. Methane

Answer:

Watch Video Solution

623. Methane is a major constituent of _________

A. Coal gas

B. Water gas

C. Petroleum

https://dl.doubtnut.com/l/_V5u1Ay26FE9I
https://dl.doubtnut.com/l/_EZ914x7KixSk


D. Bio gas

Answer:

Watch Video Solution

624. n-butane and iso butane are

A. Alkanes

B. Alkynes

C. Isomers

D. Polymers

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_EZ914x7KixSk
https://dl.doubtnut.com/l/_onxbak534Mnv


625. What property of carbon allows it to form a large number of

carbon compounds?

A. Tetravalency

B. Catenation

C. Electronegativity

D. Electropositivity

Answer:

Watch Video Solution

626. The general formula representing alkanes is……….

A. 

B. 

CnH2n

CnH2n−1

https://dl.doubtnut.com/l/_zdlGhomiBaW6
https://dl.doubtnut.com/l/_8X3PaVmdmupa


C. 

D. 

Answer:

Watch Video Solution

CnH2n+2

CnH2n+1

627. Compounds made up of carbon and hydrogen only are called

A. Alkanes

B. Alkenes

C. Alkynes

D. Hydrocarbons

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8X3PaVmdmupa
https://dl.doubtnut.com/l/_SPUuvqUU12Y3


628. The IUPAC name of  _____

A. Ethylene

B. Ethene

C. Etlyne

D. Alkene

Answer:

Watch Video Solution

C2H2

629. The portion left on dropping a hydrogen atom from an alkane

is called__

A. Functional group

B. Alkenyl group

https://dl.doubtnut.com/l/_lQ0vvelE4fzW
https://dl.doubtnut.com/l/_90yAGyh2bvGU


C. Alkyl group

D. Phenyl group

Answer:

Watch Video Solution

630. Open chain saturated hydrocarbons are called

A. Paraffins

B. Alkenes

C. Alkynes

D. Alkyl groups

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_90yAGyh2bvGU
https://dl.doubtnut.com/l/_gShLVhvCthVi


631. Diamond and graphite are

A. isomers

B. Allotropes

C. Homologous

D. Metals

Answer:

Watch Video Solution

632. The functional group present in ethers is

Watch Video Solution

633. has arranged by _______pentagons and _______hexagons.C60

https://dl.doubtnut.com/l/_PXE0qQh2k8Ej
https://dl.doubtnut.com/l/_wtKm7iOdT0ED
https://dl.doubtnut.com/l/_mjFaJDOWPlDR


A. 20, 12

B. 12, 20

C. 21,20

D. 12,01

Answer:

Watch Video Solution

634. Carbon compounds containing double and triple bonds are

called_____

A. Saturated hydrocarbons

B. Unsaturated hydrocarbons

C. Semi saturated hydrocarbons

D. Hydrocarbons

https://dl.doubtnut.com/l/_mjFaJDOWPlDR
https://dl.doubtnut.com/l/_f8LNxRAIUWWn


Answer:

Watch Video Solution

635. The reaction of an alcohol with carboxylic acid is called

A. Hydroxy

B. Ester

C. Benzene

D. Ethyl alcohol

Answer:

Watch Video Solution

636. The functional group present in methanol is___

https://dl.doubtnut.com/l/_f8LNxRAIUWWn
https://dl.doubtnut.com/l/_egP6BorLb5Qe
https://dl.doubtnut.com/l/_zeljs6kbQu0X


A. Alcohol

B. Acid

C. Ester

D. Ketone

Answer:

Watch Video Solution

637. IUPAC name of alkene containing 3 carbon atoms is___

A. Propane

B. Propyne

C. Propene

D. Propelene

https://dl.doubtnut.com/l/_zeljs6kbQu0X
https://dl.doubtnut.com/l/_PAOI9zlMFVIj


Answer:

Watch Video Solution

638. The first member of homologous series among alkynes is____

A. Ethyne

B. ethyne

C. Pentyne

D. Butyne

Answer:

Watch Video Solution

639. Number of single covalent bonds in ammonia are

https://dl.doubtnut.com/l/_PAOI9zlMFVIj
https://dl.doubtnut.com/l/_IiVmFLuPcl3j
https://dl.doubtnut.com/l/_gWPEcEl3SxCt


A. 2

B. 3

C. 4

D. 1

Answer:

Watch Video Solution

640. Type of reactions shown by alkanes is____

A. Addition

B. thermal

C. Substitution

D. Chain

https://dl.doubtnut.com/l/_gWPEcEl3SxCt
https://dl.doubtnut.com/l/_yTHf0AtQnZqx


Answer:

Watch Video Solution

641. The distance between two graphite layers is

A. 3A

B. 4

C. 3 A

D. A

Answer:

Watch Video Solution

3 ⋅ 6

3 ⋅ 35

642. General formula of saturated hydro carbon is

https://dl.doubtnut.com/l/_yTHf0AtQnZqx
https://dl.doubtnut.com/l/_Jq2l5BqdX75x
https://dl.doubtnut.com/l/_4rZZ9MSDGtoR


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n

CnH2n+2

CnH2n−2

CnHn

643. Give next Homologs of the following compounds and also

give structure, formula and name : 

A. 

B. 

C. 

D. 

CH3OH

C2H5OH

C2H4OH

CH4OH

C2H3OH

https://dl.doubtnut.com/l/_4rZZ9MSDGtoR
https://dl.doubtnut.com/l/_IHRfsByDOOr7


Answer:

Watch Video Solution

644. Alkaline hydrolysis of ester, producing soaps is called_____

A. . Carbonation

B. . esterification

C. . Calcination

D. . Saponification

Answer:

Watch Video Solution

1

2

3

4

645.  : sp : :  : ______C2H2 CH4

https://dl.doubtnut.com/l/_IHRfsByDOOr7
https://dl.doubtnut.com/l/_uL7hMWZvjfb2
https://dl.doubtnut.com/l/_U1d9KRc8oBwH


A. Sp

B. 

C. 

D. 

Answer:

Watch Video Solution

sp2

sp3

sp∘

646. IUPAC name of glycerol is

A. Propane

B. propaol

C. Propane 1, 2,3-diol

D. Propane 1, 2, 3- triol

https://dl.doubtnut.com/l/_U1d9KRc8oBwH
https://dl.doubtnut.com/l/_YvEw4mu3MyCM


Answer:

Watch Video Solution

647. Carbon compounds having same molecular formula but

different properties are known as

A. Isomers

B. homologues

C. Carboxyles

D. Monomers

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YvEw4mu3MyCM
https://dl.doubtnut.com/l/_uEM8JP167tCK


648. Carbon has _____________________ electrons in its valence shell.

A. 2

B. 4

C. 6

D. 8

Answer:

Watch Video Solution

649. The first two members of alkene series is

A. Methene, ethene

B. Methane, ethane

C. Ethene, propene

https://dl.doubtnut.com/l/_kHnJNV6Vdswu
https://dl.doubtnut.com/l/_OZWuoSZMzYpX


D. Ethyne, propyne

Answer:

Watch Video Solution

650. _______is also known as marsh gas.

A. Methane

B. Ethane

C. Propane

D. Butane

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OZWuoSZMzYpX
https://dl.doubtnut.com/l/_1FC5z8WuRNts


651. Biogas on burning does not create ____________________

A. Hydrocarbons

B. pollution

C. noise

D. heat

Answer:

Watch Video Solution

652. Natural gas is mixture of gaseous________

A. Hydrocarbons

B. esters

C. acid

https://dl.doubtnut.com/l/_IJiHBiQsQbcl
https://dl.doubtnut.com/l/_qrYuYWJUE71P


D. bases

Answer:

Watch Video Solution

653. Combustion reaction of carbon i) requires  ii) releases heat

iii) releases 

A. (i)Is true

B. (ii)is true

C. (i)& (ii) are true

D. All are true

Answer:

Watch Video Solution

O2

CO2

https://dl.doubtnut.com/l/_qrYuYWJUE71P
https://dl.doubtnut.com/l/_Bvi9KMci6lJz


654. Black lead is

A. Coal

B. Charcoal

C. Graphite

D. graphene

Answer:

Watch Video Solution

655. Carbon compounds have usually low melting points and

boiling points because they are________in nature

A. covalent

B. Ionic

https://dl.doubtnut.com/l/_atZr60r9MIFA
https://dl.doubtnut.com/l/_iRWVPQAoQfYT


C. Chemical

D. Gases

Answer:

Watch Video Solution

656. Compounds made up of carbon and hydrogen only are called

A. Hydroxy

B. Carboxy

C. Carbohydrates

D. Hydrocarbons

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_iRWVPQAoQfYT
https://dl.doubtnut.com/l/_m3NoTH57qIds


657.  is the general formula of ___________________

hydrocarbons.

A. Unsaturated

B. Saturated

C. Semi saturated

D. Super saturated

Answer:

Watch Video Solution

CnH2n

658. Ethene and ethyne are examples of_____hydrocarbons

A. Saturated

B. Unsaturated

https://dl.doubtnut.com/l/_3czHMx2dg47X
https://dl.doubtnut.com/l/_qfuGtfrq15zO


C. Semi saturated

D. Super saturated

Answer:

Watch Video Solution

659. Ethyne has_______carbon-hydrogen single bonds.

A. 3

B. 4

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qfuGtfrq15zO
https://dl.doubtnut.com/l/_wfV8MeyFZrai


660. The IUPAC name of ethylene is_____________________

A. Ethane

B. Ethene

C. Ethyne

D. Ethyl

Answer:

Watch Video Solution

661. The sodium salt of a long chain fatty acids is called______

A. Sodium salt

B. Acidic fat

C. Detergent

https://dl.doubtnut.com/l/_HdN1nJOEsrNq
https://dl.doubtnut.com/l/_t27rIuVQPYH9


D. Soap

Answer:

Watch Video Solution

662. Aromatic compounds readily undergo ________substitution

reactions.

A. Addition

B. Substitution

C. Thermal

D. Oxidation

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_t27rIuVQPYH9
https://dl.doubtnut.com/l/_9IL8kr6tSVqO


663. Chloromethane________________________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH4Cl

CH3Cl

CH5Cl

CHCl2

664. Butene____________________

A. 

B. 

C. 

C4H6

C4H10

C4H8

https://dl.doubtnut.com/l/_RHiDePXCa4I9
https://dl.doubtnut.com/l/_7RZJtxZ09AjN


D. 

Answer:

Watch Video Solution

C4H4

665. Ethylene_______________________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H2

C2H6

C2H4

CH3

https://dl.doubtnut.com/l/_7RZJtxZ09AjN
https://dl.doubtnut.com/l/_0RSx25lNUrbs


666. In which of the following state carbon undergoes

hybridisation?

A. Ground state

B. First excited state

C. Second excited state

D. In atomic state

Answer:

Watch Video Solution

667. Diamond is hard. This is due to

A. Strong bonds

B. Network structure

https://dl.doubtnut.com/l/_XmJM6P7CyU9k
https://dl.doubtnut.com/l/_ZZzwoxMOwail


C. High refractive Index

D. All the above

Answer:

Watch Video Solution

668. also called

A. Nanotubes

B. Stem tubes

C. Buckminsterfullerene

D. All the above

Answer:

Watch Video Solution

C60

https://dl.doubtnut.com/l/_ZZzwoxMOwail
https://dl.doubtnut.com/l/_HdthzCEzZ4GW


669. Nanotubes were discovered by

A. Kroto & Smalley

B. F.Curi

C. Sumio Ii jima

D. Pauling

Answer:

Watch Video Solution

670. The versatile nature of carbon is due to

A. Forms large number of compounds

B. Catenation

C. Forms various types of bonds

https://dl.doubtnut.com/l/_kArednctJLTp
https://dl.doubtnut.com/l/_v0b0VGauqPqM


D. All the above

Answer:

Watch Video Solution

671. Structural Isomers differ in

A. Molecular formula

B. Structures

C. Nature of atoms

D. All the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_v0b0VGauqPqM
https://dl.doubtnut.com/l/_BNyfmUupVkCP


672. Which of the following is correct structure for But – 1, 2 –

diene ?

A. - - CH = 

B.  = CH – CH = 

C.  -CH = C = 

D.  -  - - 

Answer:

Watch Video Solution

CH3 CH2 CH2

CH2 CH2

CH3 CH2

CH3 CH2 CH2 CH3

673. Reaction between methane ( ) and chlorine In presence of

sunlight is a

A. Oxidation reaction

CH4

https://dl.doubtnut.com/l/_NogDYNhxcvT1
https://dl.doubtnut.com/l/_MEW6Fbtps9x2


B. Combustion reaction

C. Addition reaction

D. Substitution reaction

Answer:

Watch Video Solution

674. Carbon compounds containing double and triple bonds are

called_____

A. Saturated compounds

B. Unsaturated compounds

C. Cyclo compounds

D. Aromatic compounds

Answer:

https://dl.doubtnut.com/l/_MEW6Fbtps9x2
https://dl.doubtnut.com/l/_GkLYYS3x1Of5


Watch Video Solution

675. Carbon undergoes hybridisation in excited state. The energy

for excitation is obtained from

A. Neighbouring atoms

B. From bond energies

C. Self generated

D. All

Answer:

Watch Video Solution

676. Diamond and graphite are Allotropes of carbon. Graphite is

good conductor but not diamond. This is due to:

https://dl.doubtnut.com/l/_GkLYYS3x1Of5
https://dl.doubtnut.com/l/_dtieYxtrj9Vf
https://dl.doubtnut.com/l/_fTxJ1ezNjpKe


A. . Tetrahedral arrangement of carbons in diamond

B. . Trigonal arrangement of carbons in graphite

C. . Delocalised  electron system in graphite

D. . Delocalised  electron system in diamond

Answer:

Watch Video Solution

1

2

3 π

4 π

677. Ethanoic acid reacts with ethanol in presence conc.  .

This is called esterfication. Which of the following is incorrect

about above process ?

A. Product has sweet smell

B. (Picin the end)Product contain functional group

C. The IUPAC name of product is ethyl ethanoate

H2SO4

https://dl.doubtnut.com/l/_fTxJ1ezNjpKe
https://dl.doubtnut.com/l/_YJDThPc648Tq


D. It is an oxidation reaction

Answer:

Watch Video Solution

678. Explain  hybridization in methane.

A. 

B. 

C. Sp

D. 

Answer:

Watch Video Solution

sp3

Sp3

sp2A

sp3d

https://dl.doubtnut.com/l/_YJDThPc648Tq
https://dl.doubtnut.com/l/_pGB1fx5XXl1y


679. Hybridisation and bond angle in ethene is

A. ,

B. Sp^2 ,

C. Sp,180

D. , 28'

Answer:

Watch Video Solution

Sp3 120∘

120∘

sp3 109∘

680. Diamond and graphite are

A. Strong electrostatic forces

B. London dispersion-Bond forces

C. Ionic forces

https://dl.doubtnut.com/l/_NMHNBHfnPavy
https://dl.doubtnut.com/l/_slJKw0wMhofp


D. Dipole – dipole forces

Answer:

Watch Video Solution

681. Which of the following scientist disproved vital force theory?

A. Berzelius

B. Wurtz

C. Wohler

D. Kolbe

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_slJKw0wMhofp
https://dl.doubtnut.com/l/_ZZlGWnnGVW7D


682. Alkyl group is represented by

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2n+2

CnH2n+1

CnH2n

CnH(2n − 2)

683. The molecular formula of formaldehyde is

A. 

B. HCHO

C. 

CH3CHO

CH3OH

https://dl.doubtnut.com/l/_ThTn5OQCiEHX
https://dl.doubtnut.com/l/_KnjPbGjER3nB


D. 

Answer:

Watch Video Solution

CH3COOH

684. The nature of second grade functional groups is given by

A. Primary prefix

B. Secondary prefix

C. Primary suffix

D. Secondary suffix

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KnjPbGjER3nB
https://dl.doubtnut.com/l/_7sZSp9jgVq37


685. Conversion of ethyl alcohol into Acetic acid is

A. Combustion

B. Oxidation

C. Addition

D. Substitution

Answer:

Watch Video Solution

686. Unsaturated carbon compound usually give

A. Combustion

B. Oxidation

C. Addition

https://dl.doubtnut.com/l/_yo7xo9RgXx5a
https://dl.doubtnut.com/l/_pU8Q4MRJpZTv


D. Substitution

Answer:

Watch Video Solution

687. Vegetable oils contains

A. Saturated long chain fatty acid

B. Saturated long chain alcohols

C. Unsaturated long chain fatty acid

D. Unsaturated long chain alcohols

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pU8Q4MRJpZTv
https://dl.doubtnut.com/l/_2oEZuNZ3Oieu


688. Gasohol is a mixture of

A. Alcohol + ether

B. Alcohol + water

C. Alcohol + gasoline

D. Alcohol + Kerosene

Answer:

Watch Video Solution

689. Alkaline hydrolysis of fats is called

A. Esterification

B. Saponification

C. Hydrolysis

https://dl.doubtnut.com/l/_20txTDhD68tX
https://dl.doubtnut.com/l/_iPZ5PPvy0Iw6


D. Hydrogenation

Answer:

Watch Video Solution

690. The solvent in colloidal solution is

A. Solution

B. Dispersion medium

C. Dispersion phase

D. Suspension

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_iPZ5PPvy0Iw6
https://dl.doubtnut.com/l/_ZGay5Jg3NyaC


691. Hexane________________________________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H6

C6H12

C6H14

C6H10

692. Assertion (A):Carbon cannot for ions so easily.Reason

(R):It would be difficult for a nucleus with six protons to hold ten

electrons.

C 4 −

https://dl.doubtnut.com/l/_3o8x3rHIM6Ne
https://dl.doubtnut.com/l/_IGhWt8p7Lhp1


A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R’ is false

D. A is false but ‘R’ is true

Answer:

Watch Video Solution

693. P: Carbon absorb the energy to getExcited state. q: The

energy required for excitation carbon taken up from bond

energies when bonds are formed

A. P and q are true

https://dl.doubtnut.com/l/_IGhWt8p7Lhp1
https://dl.doubtnut.com/l/_FtkAmWHyUgUL


B. P is true but is false

C. P is false but q is true

D. P and q are false

Answer:

Watch Video Solution

694. Assertion (A) : Diamond is one of the hardest materials.

Reason (R): The C-C bonds in diamond are very strong and

requires large amounts of energy to distroy.

A. Both ‘A’ and ‘R are true and ‘R’ is the correct explanation of ‘A’

B. Both ‘A And ‘R’ are true but ‘R’ does not the correct

explanation of ‘A”

C. ‘A’ is true but ‘R’ is false

https://dl.doubtnut.com/l/_FtkAmWHyUgUL
https://dl.doubtnut.com/l/_lnjmZE4S1Gsl


D. A Is false but ‘R’ is true

Answer:

Watch Video Solution

695. Assertion (A) : -  -  - , and are

isomers.Reason (R) : Isomers have different molecular formulae

and same properties.

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R’ Is false

D. A is false but ‘R’ is true

CH3 CH2 CH2 CH3

https://dl.doubtnut.com/l/_lnjmZE4S1Gsl
https://dl.doubtnut.com/l/_D0yAsK7zpDt7


Answer:

Watch Video Solution

696. (A) : Carbon forms a large number of compounds 

(R) : Carbon has high catenation power 

A. (i)

B. (ii)

C. (iii)

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_D0yAsK7zpDt7
https://dl.doubtnut.com/l/_A3Bo9gnl6MMs


697. Assertion (A):  ,  ,  is a homologous series.

Reason (R) : A homologous series of carbon compounds which two

successive compounds differ by-CH unit.

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but ‘R’ is true

Answer:

Watch Video Solution

CH4 C2H6 C3H8

https://dl.doubtnut.com/l/_IVuSI5OfUi1S


698. (A): An oxidation reaction requires oxygen always.(B) : A

combustion reaction requires oxygen always.

A. Both A and B are true

B. Both A and B are false

C. ‘A is true but ‘B’ is false

D. ‘A’ is false but ‘B’ is true

Answer:

Watch Video Solution

699. Assertion (A) : Unsatured organic com pounds undergo

substitution reactions. Reason (R) : Unsaturated organic

compounds contain bonds.

A. Both ‘A’ and R’ are true and ‘R’ is the correct explanation of ‘A

= or ≡

https://dl.doubtnut.com/l/_YrLAZZbukP0j
https://dl.doubtnut.com/l/_yBVas0FeTzgn


B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’.

C. ‘A’ is true but ‘R’ is false

D. A is false but R’ is true

Answer:

Watch Video Solution

700. P : Particles in a true solution are less than 1 nm in diameter.

Q: Particles in a colloidal solution are greater than 1 nm but lesser

than 1000 nm in diameter.

A. P is true

B. q is true

C. A and B

https://dl.doubtnut.com/l/_yBVas0FeTzgn
https://dl.doubtnut.com/l/_WZQCVkAwBqvn


D. P and q are false

Answer:

Watch Video Solution

701. Assertion (A): Fats are.sold in state at room temperature.

Reason (R): Fats contains saturated fatty acids.

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but R is true

Answer:

https://dl.doubtnut.com/l/_WZQCVkAwBqvn
https://dl.doubtnut.com/l/_vPsM9KJ0gA3x


Watch Video Solution

702. Alkanes are also known as

A. Both ‘A’ and ‘R’ are true and ‘R’ is the correct explanation of

‘A’

B. Both ‘A’ and ‘R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. ‘A’ is true but ‘R is false

D. A is false but R is true

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vPsM9KJ0gA3x
https://dl.doubtnut.com/l/_vXSOifYnXUW1


703. Predict a substance which can be used as a good conductor

and also as a lubricant.

A. Graphite

B. Diamond

C. Graphene

D. Nanotubes

Answer:

Watch Video Solution

704. What is the product when carbon undergoes combustion

reaction?

A. CH4

https://dl.doubtnut.com/l/_Na7iDGXbVZDk
https://dl.doubtnut.com/l/_VRFyHLbVnPvl


B. 

C. 

D. Above all

Answer:

Watch Video Solution

CO2

C2H5OH

705. What will happen if soap solution Add to dirty grease ?

A. It forms micelle

B. It forms acetic acid

C. It forms methanol

D. If forms esters

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_VRFyHLbVnPvl
https://dl.doubtnut.com/l/_vxZBn56cpkFb


Watch Video Solution

706. Assertion (A) : Micelles present in water will attracts each

other. Reason (R) : Micelles exhibits ion – ion attraction in water.

A. A and R are true

B. A and R are false

C. A is true but R is false

D. A is false but R is true

Answer:

Watch Video Solution

707. There is a substance ‘P’, it has a sweet odour. The ‘P’ may be

A. Ethanoic acid

https://dl.doubtnut.com/l/_vxZBn56cpkFb
https://dl.doubtnut.com/l/_3coQQQeH0c2F
https://dl.doubtnut.com/l/_KLUSgYBgxkXy


B. Ehanol

C. Sodium bicarbonate

D. Ethyl acetate

Answer:

Watch Video Solution

708. ............ +  + heat.

A. Sulphur

B. Helium

C. Carbon

D. Chlorine

Answer:

W t h Vid S l ti

O2 → CO2

https://dl.doubtnut.com/l/_KLUSgYBgxkXy
https://dl.doubtnut.com/l/_YWrUa4liTlKI


Watch Video Solution

709.  + __________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2C2H5OH + 2Na → 2C2H5ONa

CO2

H2

O2

CH4

710. Grease + soap  .......

A. Ethanol

B. Micelle

water
−−−−→

https://dl.doubtnut.com/l/_YWrUa4liTlKI
https://dl.doubtnut.com/l/_yGyq1LVFV26Z
https://dl.doubtnut.com/l/_Dxl9vBeH09zW


C. Oil

D. Ester

Answer:

Watch Video Solution

711.  : Substitution Reaction:: :

A. Oxidation reaction

B. Reduction reaction

C. Addition reaction

D. Fermentation

Answer:

Watch Video Solution

CH4 C2H2

https://dl.doubtnut.com/l/_Dxl9vBeH09zW
https://dl.doubtnut.com/l/_K3TEGRSdNziz


712. Which of the following is formed when ethyl alcohol is treated

with Con  at ?

A. Ethanal

B. Ethene

C. Ethane

D. Ethanol

Answer:

Watch Video Solution

H2SO4 170∘C

713. The product that is formed by dehydration of ethanol in conc.

Sulphuric is formed by dehydration acid is

A. Ethane

https://dl.doubtnut.com/l/_iLiGMfxrSJ5n
https://dl.doubtnut.com/l/_CxL4ZB5qQjhr


B. Methane

C. Ethane

D. Ethyne

Answer:

Watch Video Solution

714. ______reacts with sodium metal to produce hydrogen gas.

A. Alcohol

B. Aldehyde

C. Ester

D. Ketone

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_CxL4ZB5qQjhr
https://dl.doubtnut.com/l/_8Wk9UUKyAGQh


Watch Video Solution

715. When ethanolc acid is heated with Ethanol and conc. _________

compound formed is ethyl ethanoate.

A. HCL

B. 

C. 

D. 

Answer:

Watch Video Solution

HNO3

H2SO4

CH3COOH

716. An organic compound 'X' with a molecular formula 

undergoes oxidation with alkaline  and forms the

C2H6O

KMnO4

https://dl.doubtnut.com/l/_8Wk9UUKyAGQh
https://dl.doubtnut.com/l/_xs5HAC2meAKY
https://dl.doubtnut.com/l/_SBIHBbUN66jQ


compound 'Y', that has molecular formula .Identify "X" and

"Y".

A. Acetic acid, ethyl alcohol

B. Acetic’ acid, ethyl acetate

C. Ethyl alcohol, acetic acid

D. Ethyl alcohol, ethyl acetate

Answer:

Watch Video Solution

C2H4O2

717. A few drops of ethanoic acid were added to solid sodium

carbonate. The possible results of the reactions are

A. A hissing sound was evolved

B. Brown fumes evolved

https://dl.doubtnut.com/l/_SBIHBbUN66jQ
https://dl.doubtnut.com/l/_AUeQSTD2FjDA


C. Brisk effervescene occurred

D. A pungent smelling gas evolved

Answer:

Watch Video Solution

718. If 2ml of acetic acid was added slowly in drops to 5ml of water

then we will notice

A. The actd forms a separate layer on

B. Water forms a separate layer on top of acid

C. Formation of clear and homogeneous solution

D. Formation of a pink and clear solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AUeQSTD2FjDA
https://dl.doubtnut.com/l/_KzhOWQu71eNg


719. Which one is required to prepare vinegar ?

A. Ethyl acetate

B. Ethanoic acid

C. Ehanol

D. Ethen

Answer:

Watch Video Solution

720. Take Ethanol in a test tube add metallic sodium to it. If you

test the liberated gas with a burning, sprint

A. Will put off

https://dl.doubtnut.com/l/_KzhOWQu71eNg
https://dl.doubtnut.com/l/_6qhxTUNpmCsq
https://dl.doubtnut.com/l/_UHF1PEIVLDwc


B. Will put off with a pop sound

C. Will light very bright

D. Will give fumes

Answer:

Watch Video Solution

721.  and the given element i) C has 6 electrons, 6

protons and 6 neutrons ii)C is a metal iii) C can form 6 covalent

bonds

A. is true

B. (ii) is true

C. (ii) and (iii) are true

D. All are true

C6 = 1s22s22p6

https://dl.doubtnut.com/l/_UHF1PEIVLDwc
https://dl.doubtnut.com/l/_yufAgJS4ZCN0


Answer:

Watch Video Solution

722. The carbon can form:

i) All single bonds

ii) One double and two single bonds

iii) One single and one triple bond

A. is true

B. (ii) is true

C. (ii) and (iii) are true

D. All are true

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yufAgJS4ZCN0
https://dl.doubtnut.com/l/_moHQf6K2FpSZ


723.  has _________ bonds.

A. Four sp-s

B. Four 

C. Four 

D. Four sp – sp

Answer:

Watch Video Solution

CH4

sp2 − s

sp3 − s

724. Name the bonds in the given molecules i)  ii)  iii) 

A. I -single, ii -double, iii -triple

B. I -triple, ii – double, iii – single

CH4 C2H4

C2H2

https://dl.doubtnut.com/l/_7KjK4nDx4GNG
https://dl.doubtnut.com/l/_QZlalNkREekh


C. i-double,ii-triple, iii-single

D. All are single bonds

Answer:

Watch Video Solution

725. , ii)  iii) 

 Which of the above is a homologous

series ?

A. (i)

B. (ii)

C. (iii)

D. (ii) and (iii)

Answer:

i)CH4, C3H5, C3H6 CH3OH, C2H5OH, C3H8OH

C8H16, C9H18, C10H20,

https://dl.doubtnut.com/l/_QZlalNkREekh
https://dl.doubtnut.com/l/_Gf4jaVsfZW3j


Watch Video Solution

726. What is the general formula for the homologous series,

_________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3COOH, C2H5COOH, C3H7COOH

CnH2n+2COOH

CnH2nCOOH

CnH2n+1COOH

CnH2n−2COOH

727. Cyclo butane, the primary prefix is

https://dl.doubtnut.com/l/_Gf4jaVsfZW3j
https://dl.doubtnut.com/l/_gOzb7UT8ynka
https://dl.doubtnut.com/l/_PZQYz7krK6VV


A. Cyclo

B. but

C. an

D. E

Answer:

Watch Video Solution

728. Which of the following is an incorrect structure ?

A. 

B. 

C. 

D. Above all

CH3 − CH2 − CH − CH3

CH2 − CH − CH − CH2

CH3 − CH2 − CH2 − CH4

https://dl.doubtnut.com/l/_PZQYz7krK6VV
https://dl.doubtnut.com/l/_VOlUVHZ2Sy1P


Answer:

Watch Video Solution

729. Which of the following is not a compound of C, H and O?

A. Alcohol

B. Aldehyde

C. Ether

D. Amine

Answer:

Watch Video Solution

730. Which of the following is not a alkene?

https://dl.doubtnut.com/l/_VOlUVHZ2Sy1P
https://dl.doubtnut.com/l/_Uf16fnZKaQqV
https://dl.doubtnut.com/l/_ZiuFi2lg3WmY


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2H6

C2H4

C8H16

C3H6

731. Which of the following is not belongs to 

A. 

B. 

C. 

D. None

CnH2n+1

CH3

C2H5

C3H7

https://dl.doubtnut.com/l/_ZiuFi2lg3WmY
https://dl.doubtnut.com/l/_kumr8X2jKes4


Answer:

Watch Video Solution

732. Which of the following is not a saturated hydrocarbon?

A. Hexane

B. Benzene

C. Butane

D. Isobutane

Answer:

Watch Video Solution

733. Which of the following is not a amorphous form of carbon ?

https://dl.doubtnut.com/l/_kumr8X2jKes4
https://dl.doubtnut.com/l/_kZfEqUTOpAKd
https://dl.doubtnut.com/l/_vYkX8K9SC7mq


A. Soap

B. Fullerence

C. Diamond

D. Graphite

Answer:

Watch Video Solution

734. Which of the following is alkane?

A. 

B. 

C. 

D. 

C4H10

C4H8

C4H6

C6H6

https://dl.doubtnut.com/l/_vYkX8K9SC7mq
https://dl.doubtnut.com/l/_4urrIPoOGlpg


Answer:

Watch Video Solution

735. Which of the following has a foot-ball like structure?

A. Diamond

B. Nanotubes

C. Buckminsterfullerenes

D. All the above

Answer:

Watch Video Solution

736. Which of the following is closed chain hydrocarbon?

https://dl.doubtnut.com/l/_4urrIPoOGlpg
https://dl.doubtnut.com/l/_25d7HU8GxjDu
https://dl.doubtnut.com/l/_CYzD3VXiRGPw


A. Butane

B. Pentane

C. Cyclo pentane

D. Neo pentane

Answer:

Watch Video Solution

737. The isomer of n-butane is

A. 2-methyl propane

B. 2-methyl butane

C. 2 – butene

D. 3 -methyl butane

https://dl.doubtnut.com/l/_CYzD3VXiRGPw
https://dl.doubtnut.com/l/_pL8gfLO2yArx


Answer:

Watch Video Solution

738. What are the characteristics of homologous series ?

A. have one general formula

B. Have similar functional group

C. Similar chemical properties

D. All the above

Answer:

Watch Video Solution

739. Which of the following is not a amorphous form of carbon ?

https://dl.doubtnut.com/l/_pL8gfLO2yArx
https://dl.doubtnut.com/l/_uaa3sXkYZweb
https://dl.doubtnut.com/l/_VBA35T9KHmfz


A. Coal

B. Coke

C. 

D. Gas carbon

Answer:

Watch Video Solution

C60

740. In which of the following molecule   bond is

present ?

A. . 

B. . 

C. . 

D. . 

sp2 − sp2 σ

1 C2H2

2 C2H4

3 C2H6

4 C2H8

https://dl.doubtnut.com/l/_VBA35T9KHmfz
https://dl.doubtnut.com/l/_fhkU8bmH2fRb


Answer:

Watch Video Solution

741. Which of the following is ester?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3COOH

CH3OC2H5

CH3COOC2H5

CH3CH2OH

https://dl.doubtnut.com/l/_fhkU8bmH2fRb
https://dl.doubtnut.com/l/_toX7OW0SrEoZ


742. Wohler Friedrich is appreciable because, he prepared______in

lab

A. Nanotubes

B. Organle urea

C. Bucky balls

D. Ester

Answer:

Watch Video Solution

743. Graphite is appreciable because it used to making of

A. Organie urea

B. Nanotubes

https://dl.doubtnut.com/l/_xtAw8jQEiUWF
https://dl.doubtnut.com/l/_GYlnofMemlxO


C. Conductors

D. Papers

Answer:

Watch Video Solution

744. This reaction helps us in cooking

A. Combustion

B. Oxidation

C. Esterification

D. Soaponication

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GYlnofMemlxO
https://dl.doubtnut.com/l/_IzUrZqJQkGWb


745. Drunken drive related to

A. Alcohol

B. Ester

C. Acid

D. Ketone

Answer:

Watch Video Solution

746. Esters are appreciable because they have

A. Aromatic smell

B. Gold colour

C. Light weight

https://dl.doubtnut.com/l/_10V1ibqjAwK7
https://dl.doubtnut.com/l/_xypoYfhMcJSX


D. Above all

Answer:

Watch Video Solution

747. Hydrocarbons are appreciable because they are used as

A. Oxidizing agents

B. Conductors

C. Fuels

D. Catalysts

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xypoYfhMcJSX
https://dl.doubtnut.com/l/_Lh4Lo4ICJxsh


748. Assertion (A): Graphite is used as lubricant and as the lead in

pencils. 

Reason (R) : Graphite has a sp hybridization.

A. . Both ‘A’ and “R’ are true and ‘R’ is the correct explanation

of ‘A’

B. . Both ‘A’ and R’ are true but ‘R’ does not the correct

explanation of ‘A’

C. . `A’ is true but ‘R Is false

D. . A’ is false but ‘R’ is true

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_dlFlHZZmQMEW


749. Why do sometimes cooking vessels get blackened on a gas or

kerosene stove?

A. Insuffictent fuel

B. Insufficient air

C. Insufficient ignition

D. Above all

Answer:

Watch Video Solution

750. Cooking gas contains

A. 

B. 

C4H10

CH4

https://dl.doubtnut.com/l/_0butDwFtauWr
https://dl.doubtnut.com/l/_0YqpxVdyUWuG


C. 

D. 

Answer:

Watch Video Solution

C2H5OH

C2H2

751. Micelles are found in

A. Tea

B. Soap water

C. Alcohol

D. Venegar

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0YqpxVdyUWuG
https://dl.doubtnut.com/l/_JT3mhigeYfSY


752. Vinegar __________

A. Ethanote acid

B. Preservative

C. Sour is taste

D. Above all

Answer:

Watch Video Solution

753. Riped fruits contain

A. Butane

B. Alcohol

C. Ester

https://dl.doubtnut.com/l/_EsM8QJ5XXZZS
https://dl.doubtnut.com/l/_J5nEVmd4kkHc


D. Above all

Answer:

Watch Video Solution

754. Alcoholic drinks contain

A. Ester

B. Soap

C. Ethanol

D. Venegar

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_J5nEVmd4kkHc
https://dl.doubtnut.com/l/_XRbELmQ14yNe


755. Which of the following is better cooking ?

A. . Vegetable oils

B. . Animal fat oils

C. . Hydrogenated oils

D. . Vanaspathi

Answer:

Watch Video Solution

1

2

3

4

756. Scientists inserted bio molecules into______ to inject them into

a single cell

A. Graphite

B. Graphene

https://dl.doubtnut.com/l/_R4ROrTGD0hDU
https://dl.doubtnut.com/l/_NAD3hmdvLcQl


C. Nanotube

D. Bucky balls

Answer:

Watch Video Solution

757. Pencil lead is

A. . Graphite

B. . Graphene

C. . Nanotube

D. . Bucky balls

Answer:

Watch Video Solution

1

2

3

4

https://dl.doubtnut.com/l/_NAD3hmdvLcQl
https://dl.doubtnut.com/l/_XpiAJovrMSyV


758. Which of the following give aromatic smell ?

A. Alcohol

B. Ester

C. Acid

D. Vinegar

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ag9cjeL9Ej1W

